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1. Plague is a disease caused by
(A) Mosquito
(B) Rats
(C) Bats
(D) Birds

2. “Anandamath” was written by
(A) Bankim Chandra Chatterjee
(B) Satat Chandra Chatterjee
(C) Rabindranath Tagore
(D) Rashbehari Bose

3. The First Speaker of the India Constituent
Assembly had been

(A) G.H, Deshmukh
(B) Hukum Singh
(C) Swaran Singh
(D) G.V.Mavalankar

4. Two pipes A and B can fill a tank in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required.to
fill the tank?
(A) 10 min. 40 sec.
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

S. Rajuand Param startajourney. Raju moves ‘

northwards at a speed of 20 km/hr and Param
moves southwards at a speed of 30 km/hr. How far
will be Param from Raju after 60 minutes?

(A) 24km
(B) 50km
(©) 42km
(D) 30 km
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(A) 24 R
B) 50
(C) 42 R
(D) 30




6. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
(B) 27-92
(C) 2927
(D) 2972

7. IfRs. 1,000 becomes Rs. 1,400.in 4 years,
then find the rate of interest.

(A) 10%
(B) 5%
(©) 15%
(D) 25%

8. The First Woman Ruler to sit on the throne
of Delhi had been

(A) Abeda
{(B) Zubeida
(C) Rokeya
(D) Razia

9. The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India
(B) President of India

(C) Vice-President of India
(D) Lok Sabha '

10. Two numbers are in the ratio 3 : 5. If each
number is increased by 10, the ratiobecomes 5: 7.
The numbers are

(A) 3,5
{(B) 1,9
(C) 13,22
(D) 15,25
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6. 50 T sy 51w 28 | 3 uft 4, @ 25
GR35 M S W, SiRgE SRR Aol e
(o) 5 ¢

(A) 27-29
(B) 2792
(C) 29-27
(D) 2972

7. AT Fo oIt A 4 I=EF 1,000
1,400 BRet T3¢ :
(A) 10%
(B) 5%
(©€) 15%
(D) 25%

8. fw wfzat =i R ffes P Iow—
(A) =iEml
(B) TfRAl
(C) @
(D) wfemt

9, Sige e DT aum Remsifers Fye
LA
(A) SITeT YT
(B) ©iaTed Figafe
() wrred Tomigefs
(D) TSt

10. %3 Y Wi 3 ; 5130 2l 5P 10
a1 % A T, I e 5 ¢ 7 =R IRt =
(A) 3,5
(B) 7,9
(C) 13,22 -
(D) 15,25
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11. Pragyan is associated with
(A) Missile Technology
(B) Space Research
(C) Oceanography
(D) Climate

12. A,BandCinvested Rs. 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500.
B’s share of profit is

(A) Rs. 1,200
(B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

- 13. Polio is caused by
(A) Bacteria
(B) Virus
{C) Anti-biotic
(D} Medicine e

—

14. Find the LCM. of% % 1

al

(A) 280
(B) 360
(C) 440
(D) 420

is
(A) Australia
(B) Canada
(C) Brazil
(D) India

14.

15. ThePresidentoftheG-20 Group of countries

11, ‘e-97 Wi @ Fefie e e
E@—
(A) Rty 2
(B) WM fRwais
(©) v R
(D) wiRreT

!
12. 9B HIAT A, B 938 C TP 26, oooﬁ‘m

34,000 et @2 10 oooﬁwﬁﬁmﬂmiw
41T I 3,500 B 311 A | B FICS Sieel 2w

(A) 1,200 St
(B) 1,500 it
(C) 1,700 Gt
(D) 1,900 Br#t

13. ¢oifere Gio-a3 TR T
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(B) ©iza™
(C) pifs-Iraite
(D) 83y

58 11
09> g AL, Ry st

(A) 280
(B) 360
(C) 440
(D) 420

15. G-20 (ifee oirafer sTeiife 2w
(A) SU3emE!

- (B) Fiwie
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16. By selling 100 pencils, a’ shOpkeeper gains
the selling price of 20 pencils. His gain per cent is

(A) 25%
(B) 20%
(©) 15%
D) 12%

17. A boat covers a distance of 30 km in
2l hours running downstream. While returmng,
it covers the same distance in 3é hours What is

the speed of the boat in still water"
(A) 8km/hr
(B) 12 km/hr
(C) 15 km/hr
(D) None of the above

18. Theauthorof “The Story of My Experiments
with Truth” had been
(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale
(C) Mahatma Gandhi
(D) Aurobindo Ghosh

19. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

20. Incomes of A, B and C are in the ratio

7:9: 12 and their expenditures are in the ratio

8:9: 15.IfA"ssa_ving is % of his income, then the

ratio of savings of A, Band Cis
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69:56

16. 100/ i Rfer o wem @ 206

, (oot TP P01 9 | oI e ol 2

(A) 25%
(B) 20%
(C) 15%
- (D) 12%

17. WwﬁfwﬁMz ﬂﬁ,‘moﬁﬁ
WWW|WW@W 3— o
ey 373 | 7 o= @iE -Ti%caet'ﬁ?

(A) 8 fRY/aHl
(B) 12 /6!
(©) 15 fFfi/ast
(D) Bolta @I 7

18. “The Story of My Experiments with Truth”
-7 LT e
(A) roifls ToREE T
(B) caiteitst e CANTE
(C) R St
(D) =R g

19. SIERAE Aiw @ Afifoe fRewe
(A) MR =R
(B) TR
(C) SI=EA
D) =T

20. A, B G C-9F A TS 7:9:12
TR O JEA A 8 : 9 15 17 A ol =
-%WWW,WA,B@?‘\' C~9 AAq
ST TO?
(A) 56:99: 69
(B) 99:56: 69
(C) 69:56:99
(D) 99:69:56
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21, There are three full containers of mixture of
milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new mixture.

(A) 11: 14
(B) 14:17
(©) 9:16
D) 12:13

22. The First Vice-President of Independent
India had been

(A) C.-Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dr. 8. Radhakrishnan

(D) Maulana Abul Kalam Azad

23, If3=—, —=§,thentheva1ueofa :b:cis

(A) 7:9:15
B 7:9:5
. (C) 21:35:45
D) 7:3:15

24. Who said, “Swaraj is my birthright”?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

25. fab=3:5andb:c=7:8, then
2a:3b:7cis equal to
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350

A-6

21. IR T e foal o siig s aag
I WS Al 70 5 : 13 | (% sAtaefirs 5y
ARG SATS TG 2 : 3,47 : 53R 9 : 11
qafe Gy il fe agn feet 71 e wem
AT el e

(A) 11:14
(B) 14:17
(€) 9:16
(D) 12:13

(W'
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(A) . Tr=steies
(B) ©. GRIRIeH
(C) ©. 9 AIFaH
(D) Gt SIgE et Ik

23,
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¢
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"(A) 7:9:15
B) 7:9:5
(C) 21:35:45
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bl

24. TG SN SN SRl B BT w2
(A) St
(B) (=F
(C) T
(D) IR
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(A) 42:105:280

(B) 15:21:40

(©) 6:15:40

(D) 30:21:350
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26. Sushil was thrice as old as Snehal 6 years

back. Sushil will be % times as old as Snehal

6 years hence. How old is Snehal now?
" (A) 12years
(B) 15 years
(C) 18 years
(D) 24 years

27. The compound interest on Rs. 20,480 at

6% % per annum for 2 years and 73 days is
(A) Rs. 3,000
(B) Rs. 3,131
(C) Rs.2,929
(D) Rs. 3,636

28. If7:x=17-5:22-5, then the value of x is
(A) 6
(B) 8
(C) 12

(D) 9

29. Dr. Meghnad Saha was a famous
(A) Mathematician '
(B} Physicist
(C) Chemist
(D) Doctor

1
T then what is the value of x7
I+——
3 +—1-
4

30. If 2=x+

18
17
21
17
13
17
12
17

A)
" ®)
©)
D)
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26. 6T ST NS T GRRITETS RO 384
ﬁ‘c«:mwﬂaﬁwwmwgm
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(A) 12 T
(B) 15327
(C) 18 7=A
(D) 24 7=

27. 20,480 5@ Btz 2 377 73 Fera wey qf¥e
6 % T S T
(A) 3,000 B
(B) 3,131 Gt
(C) 2,929 i
(D) 3,636 B

28. TMT 1 x=17-5: 2255, SA T AT ?
(A) 6
(B) 8
(€ 12
(D) 9

29. ©2 (EAR A1 e aFe g
(A) siidom
(B) smidRm
(C) =M
(D) TR

30, W 2=x+

T T, O x4 A T

14—

341

. 4
18
17
21
17
13
17
12
17

(A)
(B)
©
(D)
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31. A man walks I km on Ist day, 2 km on 2nd
day, 3 km on 3rd day and so on. The total distance
the man covers in 10 days is

(A) 40km
(B) 50 km
(C) 55km
(D) 58 km

32. Sasanka was the King of
(A) South India
(B) Gujarat
(C) Gaur
(D) Malbhum

33. Find the value of:

(243)% x 320+1,
Qn 5 3n-1

(A) 9

(B) 3"

(©) 3

(D) 27

34. A and B can do a piece of work in 12 days;
B and C candoitin 15 days; C and A cando itin
20 days. A alone can do the work in

(A) 155 days

(B) 24 days
(C) 30days '
(D) 40 days o

35. Pisfasterthan Q.Pand Qeach walk 24 km.
The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equai to T

(A) 3 km/hr
(B) 4 km/hr
(C) 5km/hr
(D) 6 km/hr

A-8

31. e i 29w i 1 70, Gen e 2 ”RE,
g e 3 6 ReIR 3 | el 10 fi ciis v
799 Sy T39I

(A) 40 5

(B) 50 ¥

(C) 55 R

(D) 58 i ,
32. *Mi% (T SR T e oifb =@

(A) w5 oie

(B) @46 1

(©) (Mo

(D) etg™

33, i fidfa vt ¢
(243)% x 32041
gty 3n-1
(A) 9
B) 3
(C) 3n-l
(D) 27

34. A9 B 9B e 12 Wi 5909 “NE; B 9
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I FACT AN (7

(A) 15% i

(B) 24 faa
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(D) 40 fas
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36. Acharya Jagadish Chandra Bose was a
famous

(A) Singer
(B) Poet

(C) Scientist
(D) Politician

37. The average of 15 numbers is 7. Out of
them the average of first 8 numbers is 6-5 and the
average of last 8 numbers is 9-5. The middle
number is

() 21
(B) 22
(C) 23
(D) 24

38. The First Battle of Tarain took place in
(A) 1192 AD.
(B) 1191 A.D.
(C) 1205 A.D.
(D) 1206 A.D.

39. The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglaq

40. Plants manufacture food through
(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Evaporation

A-9
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36. oo GelR o 39 e wew e
(A) ST
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(D) 1206
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41. The Aihole Prasasti is associated with 41. Gizze 2 91 w @
(A) Samudragupta (A) ymed
(B) Vishnugupta ' (B) fryred
(C) Pulekeshin IT .
(©) =Sl “eriim
(D) Rajendra Chola (D; o
42. Water is composed of 42, TEi-4 @ 6 IS G Sie— .
(A) Hydrogen and Ozone . (A) ZTROGIER 9L GG
(B) Hydrogen and Oxygen (B) TSI €32 ST -
(C) Nitrogen and Oxygen (C) TBIEA <. SREH :
(D) Chlorine and Oxygen f
(D) IR @R S <
- , 1
43. Which one among the following is the 43. ffefRe waafm g mb eE e ?
largest? A 6
@ 3 @ 7
B) =
®) 2 ® G
) L
© 1 © :
4 o) <
= 5
® = |
44. The difference between compound and 4. 3 I G0 5% AT 2 8,000 B
simple interest on Rs, 8,000 at 5% p.a. for 3 years is B 7 QR TG A TG AL 5 |
(A) Rs.50 - , (A) 505t
(B) Rs. 60 . (B) 6051
(D) Rs. 600 Co . (D) GOOW
45. Paradeep port is locatedin - - . - 45. SRR IV @UIE TIRT— i
(A) Lakshadweep e (A) Tt |
(B) West Bengal - o (B) “Fsuam '
(C) Odisha (©) &1 |
D) Tamilnadu. |
( (D) oifierg |
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46. TheIndian National Congress was founded
in the year ’
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties '
(D) NGO

48. Find the value of:
1,1 1 1
ix2 2x3 3x4 7

1
(A) 10

® -

© 1
(D) 10

49. A bus travels first haif distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The
average speed of the bus is

(A) 42 km/hr
" (B) 50 km/hr
(C) 46 km/hr
(D) 48 km/hr

50. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job
by himself?

(A) 16 days
(B) 20 days
(C) 24 days
(D) 30days

AMRI22 -

46. SIATST TOW TG A0 T @ IANE—
(A) 1883
(B) 1884 .
(C) 1885 .
(D) 1886

47. BRICS &=

(A) FgFTEEs oIt
B) T AT
(C) AT To
(D) CTRIT (oMt

48. -1 [fm Tt ¢

LR SIS S
1x2 2x3 3x4 7. 9x10

@ 5

®)

© 1
D) 10

49. @3B 5 T WA WG AL S Y

- 40T/ 9B sifere R AR ST e 60 /A0

sifere SieT™ 0 | AT 18 5if& Fo ¢
(A) 42 Bfa/a%t
(B) 50 =fi/aw
(©) 46 =f/aB!
(D) 48 /B

50, TS = G 8 T 9Tl T o TS
Al | A Trive 93 @R e 12 WA 00 216 1=
e Tt a0 FOMA o (TJ?

(A) 16 M=
B) 20w
(© 24w
D) 30 fa=
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51. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar
(B) Siraj-ud-Daulah and the English East
India Company
(C) Mir Jafar and the French )
(D) Shah Alam and the English

52. A pipe can fill a tank in x hours and another
pipe can empty it in y (y > x) hours. If both the
pipes are open, in how many hours will the tank be
filled?

(A) (x—y) hours
(B) (y—) hours
©) =

x-y
(D)

hours

J—x hours

53. The ages of Samir and Tanuja are in the
ratio 8: 15. After O years the ratio of their ages will
be 11 : 18. What is the difference between their
ages?

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years

54, The speed of a car increases by 2 km after
every one hour. If the distance travelling in the first
one hour was 35 km, what was the tota] distance
travelled in 12 hours?

(A) 456 km
(B) 482 km
(C) 552 km
(D) 556 km

A-12

51~ qrad I aifere e
(A) 7 i e Fg wwn

B) Prre-Sr-tnat © SwEw 295, 2
@R ’

©) e wrew s T
(D) *IiZ =i+ @ e

52, fl oi2el x 90T GBI UERET SRl
QR W y (y > x) 96T 9ff i T50e g | 5
T AR G I UGS, Bl o wop A
A

(A) (x—y) ot
(B) (y—x) %%l

© 725 %0

xy
> 951

)

53. 1919 8 STGIA O WIS 8 : 1519 7=
AF O AT SIS 23 11 : 18 | O%d IHG
At T2

(A) 2098
(B) 21324
(C) 24 3=7
(D) 33 97

54. = 939! o7 @I T oY 2 et
MG I 24T 9T TR G 1EY 2o 35 B,
12 T (B SToeri® 7ae T fmi e

(A) 456 &
(B) 482 f&f
(C) 552 3
D) 556 =
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55. The Sepoy Revolt initially broke out in
'(A) Kanpur
(B) Barrackpore
(C) Chitpore
(D) Mirpur

56. What is the interest of Rs. 300 at the rate of
11% for 5 years?

(A) Rs. 150
(B) Rs. 165
(C) Rs. 120
(D) Rs. 200

57. Fahienhad visited India during the reign of
(A) Harshavardhan
(B) Yasovarman
(C) Chandragupta Maurya
(D) Chandragupta IT Vikramaditya

58. The Panchayati Raj system was introduced
in India by one of the following amendments:

(A) 72nd
B) 73rd
(C) 70th
D) 71st

59. Ali travels a distance of 300m in 2 minutes.
and 30 seconds. What is h15 speed in kin/hr?

(A) 69
B) 71
(©) 72
@) 73
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55. Fieiik R aieT welem el iﬂ—i'
(A) Fefg
(B) oA
(€) Toesm
(D) fimsfm

56. 300 BiFi 11% QA 5 IR I T2
- (A) 150 B
. (B) 1655t
. (©) 1205
(D) 200 S

57. = e A9 AETEIE SRS WeH—
(A) TR
" (B) el
(C) vmeg G
(D) "om veroe Repfve

58, Wﬁmﬁwm@%@wﬁw
AafiRe e g ¢

(A) 729
(B) 73%%
(C) 70%%%
(D) 71

59. w1t 2 RS 30 T 300 v g v
o0d | it/ 9B oin oot To e

(A) 69
B) 71
©) 72
D) 73
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60. The distance from the town Atothetown B
is 5 miles, C is 6 miles from B. Which of the
following could be the maximum distance from
AtoC? '

(A) 11 miles
(B) 8 miles
(C) 2 miles
(D) 4 miles

61. Which of the following numbers is divisible
by 37
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
(D) Carrot

63. Bats navigate in the dark using
(A) Eyes
(B) Nose
{C) Echo
(D) Smell

64. The sum of the squares of two positive
integers is 100 and the difference of their squares
is 28. The sum of the numbers is

(A) 12
B) 13
(C) 14
(D) 15

A-14

60. *TI A (ATF B-97 7¥9 5 N2H IR B (A
C-a7 721 6 T3 | N0ox (A A (U C~a7 7
TG 2O A ?

(A) 11 7%
(B) 8 Wiz
(©) 2927
(D) 4 Wiz

61. A5a v TG 3 7& Koty 2
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62. foBE C @ AME *heml IF—
(a) fr
(B) ~feEy
© 1™
(D) SiE"

63. AT AT AT T T ARG —
(A) BN
(B) A%
(C) A
(D) =

64. 5 @I ool P @R 100 @R
oIt o Ay 28 | RN 7oA s Fo?
(A) 12
(B) 13
©) 14
(D) 15




65. India became a Republic in
(A) 1951
(B) 1949
(C) 1950
(D) 1948

66. The Constitution of India was adopted on
{A) 25 November 1945
(B) 26 November 1949
(©) 26 January 1950
(D) 15 August 1947

67. The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
(C) Chief Justice of the High Court
(D) President of India

68. Cornea is present in the
(A) Ear
(B) Eye
(C) Nose
{D) Stomach

69. Cactus is found in the
(A) Polar Regions
(B) Desert
(C) Moon
(D) Ocean

A-15

65. SISt efamey (¥ A (XIS =
. (A) 1951
(B) 1949
(©) 1950
(D) 1948

6. SIATS SR G T R
(A) 25 ST 1945
(B) 26 057 1949

(C) 26 &i@rAt 1950
D) 159155 1947

67. TIeY S SF A
(A) SIS eyiRag)
(B) SRTed THAARARS
(C) T2 I gyl Roweife
(D) ©RTed AFeS

68. <o oEy (¥ e wfe—
(A) T4
(B) oi¢
©) 7
. (D) ezt

69. FRHP-9F SiLsiife wTZw
(A) OV G

(B) wrgf
(C) Bm

(D) g
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70. Carrots are rich in
(A) Vitamin B
(B) Vitamin C
(C). Vitamin A
(D) Vitamin D

71. The First Battle of Panipat took place in
(A) 1521
B) 1523
(C) 1525
(D) 1526

72. The average of m numbers is. n* and
the average of # numbers is m®. The average of
(m + n) numbers is

(A) mn

(B) m?*+nt

(C) mn (m*+ n?)

(D) mn (m*+ n*—mn)

73. The human body consists of
(A) 205 bones :

(B) 206 bones

(C) 204 bones

© (D) 203 bones

74. The Chemical name for common salt is
(A) Sodium Fluoride
(B) Sodium Chloride .
(C) Potassium Cyanide
(D) Potash

A-16

70. ot @ feBifm at-q Aya—
(A) fooifm B
(B) oo C
(C) feutie A
(D) feBiffs D

71. ~AfFeNT 299 J@ WAV W@ AE
(A) 1521 7
(B) 1523
(©) 1525
(D) 1526

72, m TR oG T n* IR n FRYMA 4C T |
(m + n) TRYE ¢ T
(A) mn
B) m*+n?
(C) mn (m*+n?)
(D) mn (m*+ n*—mn)

73. AR OTCR SER TR =
(A) 205
(B) 206
(C) 204
(D) 203

74. Y TRE ASATWE TN 25
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75. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

76. If Manish walks 20 km/hr faster, then he
will save one hour to travel a distance 600 km.
What is the usual speed of Manish?

f

, (A) 100 km/hr
(B) 120 km/hr
(©) 150 km/hr
(D) 160 km/hr

77. If the side of a square is increased by 30%,
then its area is increased by
(A) 9%
(B) 30%
(C©) 60%
| (D) 69%

one number is equal to 8:5% of the other, then the
greater number is

(A) 1079

(B) 1380
| (©) 1411
| (D) 1250

i 79. The ratio of two numbers is 3 : 4 and their
sum is 420. The greater of the two numbers is

(A) 175 '
(B) 200
(C) 240
(D) 315

A-17

78. The sum of two numbers is 2490.If 6:5% of .
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75, BRIG! e el ==
(A) Al
(B) ixGiem
(C) AW
(D) =it

76. ¥ 3 20 R/ wo Forew omm
fof7 600 Reifeitra @ cave 1 9961 ww SivrTea |
TR S ol To?

(A) 100 f&Ri/a%
(B) 120 ff/a%r
(C) 150 /a5
(D) 160 &fi/26

77. T 4=l Isfeweam A 30% & 0w,
IR T CPITe Fo I AN
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78, 0 TN o 25 2490 | 7% Gl Hegim
6-5% ST 8-5 %7 T 2, WIRre] 9281 FeifS
= .

(A) 1079
(B) 1380
(C) 1411
(D) 1250

79. 6 TRY A 3 : 4 @R WItRA @R
420 1 Y1 o WK 08! WA 7=
(A)-175
(B) 200
(C) 240
(D) 315
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80. The leader of the Kaivartya Revolt was
(A) Puru
(B) Divya
(C) Arjun
(D) Harsha

81. Anita can cover a certain distance in
1 hr. 24 min. by covering % of the distance at
4 km/hr. and the rest at 5 km/hr. Find the total
distance.
(A) 4km
(B) Skm
(C) 6km
(D) 7km

82. World Environment Day is observed on
(A) June 4
(B) June 5
(C) April4
(D) April 5

83. The respective ratio among the speed of a
bike,avanandalorryis3:5:2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of
the bike and the van together?

(A) 60 km/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 km/hr

84. Onselling anarticle atacertain price,aman
gains 10%. On selling the same article at double
the price, gain per cent is

(A) 20%

(B) 100%
(C) 120%
(D) 140%

A-18

80. 9IS Ry (Tl A
(A) IF
(B) g
(C) W
o =

81. et gl e 7ag 1 761 24 RfFG 7/
W%WMW4ﬁﬁlﬂﬁrﬂmaawﬁww
5 ffR/a uat Sifeer 0 | (IS 79Y FS°

(A) 4 R/
®) 5BR
(€) 63
(D) 7®F

82, f offfrat Tt wifere =1 & fi—
(A) g 4
B) g5
(C) g4
(D) «fewi 5

83. «3fs 3T, I o ¥ @3 Al sifew
SANS 3 : 5 : 2 | SHITHE oS wiE «ifw 250 =
T} 12 99517 360 Rfi s 3= | 32 6 Ot 1%
oif® GFCq F9?

(A) 60 =i/
(B) 62 f&Ri/aHt
(C) 64 ff/aD
(D) 63 /T

84. 3 FFe v @ fEfw RiF e
GFEE T 10% e A | 4, et Tred v
fafer Far T© Wi wilS FA?

(A) 20%
(B) 100%
(C) 120%
(D) 140%
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85. The average of 6 observations is 45.5. If
one new observation is added to the previous
observations, then the new average becomes 47.
The new observation is ‘

(A) 58
(B) 56
(© 50
(D) 46

86. Raniganj is famous for one of the following

minerals:
{A) Iron
(B) Mica
(C) ' Coal
(D) . Diamond

87. One of the following is responsible for
Global Warming:

(A) Nitric oxide:
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

88. Which one among the following is the
largest? . -

@ 5

®)

© 3
®) 1y

A-19
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85. 6 B “RiTwrR e = 45-5| T <&
AT A 9 g AR ot 9 2,
G TG NG A 47 | Wow ARG 58
(A) 58
(B) 56
(©) 50
(D) 46

86. f=fAle e sl Rifsite; wtemt T
(A) 1=
B) =g
(©) e
(D) J

87. fo Bt wwy FRwfeRe vmaie wifls
(8) TRE w=izs
. (B) P TRz
(C) AR i
(D) iGs wife

88. fnffRwelsa v @Ak Row aetr
7
A g

® 1
- 3
© 3

®) 13
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89. Two vessels arefilled with mixtures of milk
and water in the ratio 3 : 2 and 6 : 5 respectively.
In what ratio should these mixtures be mixed so
that the ratio of milk and water in the final mixture
becomes 4 : 37

(A) 6:13
(B) 9:14
(€) 10:11
D) 5:8

90. AcharyaPrafullaChandraRoy wasafamous
(A) Doctor
(B) Chemist
{C) Physicist
(D) Mathematician

91. Darjeeling district is famous for
(A) Coffee
~(B) Cocoa
(C) Tea
(D) Sugar

92, Akash leaves Mumbai at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30 am. At what
time do they cross each other?

"~ (A) 10am

(B) 8.32 am
(©) 8.56 am
(D) 9.20 am

93, Doctor’s Day is celebrated on
(A) July2
(B) July 1
(C) June 4
(D) June5

89. 45 g IUNFE 3: 2 @22 6: 5 WGATS 74
IR TR T S IR | (I ST R Bretetesfet
fiftre Tt Tgn fRe 1Y GR SEE WA I
4:3¢

(A) 6:13
(B) 9:14
(C) 10: 11
(D) 5:8

90. wIoH &g vw A fRreW waw e
(A) ©&R
(B) il
(C) “mefRm
(D) o=

91. WifRER ot aF T e —
(A) 3%
(B) TS
© ®
D) bR

| 92, S ST 651 FI2, (AT FGA T
1051 IR (DT | it 51 §BIF BIHNET
(S 2GR0 HIE 11,30 RFG 133 g | o

G Ol AT AT SO T ?

(A) 10 am
(B) 8.32am
(C) 8.56am
(D) 9.20 am

93, i e lifere 23
(A) TFIR 2

(B) wFiR 1

(C) T 4

(D) & 5

B e
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94, Milk is a rich source of
" (A) VitaminC
> (B) Calcium

(C) Potash

(D) Carbide

95. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200 m
(B) 225m
(C) 245m
(D) 250 m

96. 5% income of A is equal to 15% income of
B and 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000
(B) Rs. 16,000
(C©) Rs. 18,000
(D) Rs. 1,24,000

97. Blood has one of the following groups:
(A M
(B) N
(SN
(D) P

98. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
B) 55%
(C) 6%
(D) 6:25%

A-21

AMRI/22
94, 7 FRe Wt TgE—
(A) fouitm C
(B) =it
(C) =iBpe
(D) zRE

95. 6 130 fibtz W G &fS wiw 45 B
I3 30 CTLICS 9= (g S e | (rofoa oadf
&

(A) 200 fioR
(B) 225 fioE
(C) 245 fBR
(D) 250 fior

96. A-99 5% 1T B-99 15% ST FW @33
B-49 10% ©1% C~493 20% D 50 | 3 C-9F

I 2,000 519 2, O A, B @38 C~99 (TG &g
TS

(A) 14,000 it
B) 16,000 B}
(C) 18,000 Bt
(D) 1,24,000 Sit

97. FifERe 9l wwe o ¢
(A) M
(B) N
© o
(D) P

98. «fb f&fReTE T mEy 93 Rerera wgsie
ZE 20 : 21 | ST 93 @#iF FN0ed *oiN o ?
(A) 5%
(B) 55%
(©) 6%
(D) 625%
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99, The Father of the Indian Constitution was 99, SiFen MRUET oW Rewd B «ibe
(A) Nehru , (A) T '
(B) M.N.Roy : (B) @ ¢, A
(C) B.R. Ambedkar

© R =13 St

R.D
(D) C.R. Das (D) P ==, 7

100. The Saptaratha Temples at Mahabalipuram 100. WET=AGE e wfFR Fffer fem

were built by the . (A) (5IF I
(A) Cholas B) By a4
(B) Chalukyas ( | :
(C) Pallavas - ' (© e
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1. The selling price of an article is Rs, 1920
and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

2. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist
(D) actor

3. Ascorbic Acid is the scientific name for
(A) Protein S
(B) Carbohydrate
(C) Vitamin C
(@) VitaminD

4. The Right to Speech is considered as
" (A) Fundamental Duty

(B) Fundamental Right

(C) Fundamental Policy

(D) Sacred Right

5. The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625
(D) Rs. 635

A-2

1. (I 4G T ey T 1920 Bt 9=k
4% TETRITH (reT o | Tabe 4T =0 '
(A) 2400 B
(B) 2000 BRs
(C) 1600 Bt
(D) 1200 5t .

2. TS SIS S Brew o A

(A) R

(B) Iwmiis ¢ oW
: (©) TRY f’;

(D) ©fStret -

i

3. e «ite a@mife «ifFemt Ascorbic
Acid
(A) caiifo
(B) =l
(C) feoifim C
(D) febfm D

4. g FRom wfFeta T w@ofw
(A) G vty
(B) i afgaE
(C) cifes A
(D) «f5a wfdwm

5. T sifate Bioerr 2 T <1 4% B

2 B QI A ST = 1 51 | Bt <At
fefa et

(A) 630 B
(B) 620 il
(C) 625 it
(D) 635 B

T




6. If §g=_*—, then find the value of *.

7. The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratio becomes
1 : 2, the quantity of new mixture in litres'is

(A) 32
(B) 40
(C) 42
(D) 45

8. The upper limit for West Bengal Studcnt
Credit Card Scheme is

(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10 lakhs
(D) Rs. 5 lakhs

9. 75% of a number when added to 75 is equal
to the number. The number is

(A) 150
(B) 200
(©) 225
(D) 300

10. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174

A3
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: C e ay j
6. ﬁ%:i_ 7, O+ i Fef |
121
2
25

2

4
®) 25

© 4
(D) 25

(A)

7. WbE € TEE AR Feew swee
1: 313 freifbrs 5 Biva oo iar atet T
7w, g el Tae 23 1 : 2, o g Retfon
foioita Afmisl =@
(A) 32
(B) 40
€ 42
(D) 45

8. ST (T IH0ES (FYE IIE @R HEsfo
wies eior i By
(A) 20 7 Bt
(B) 15 &% BiFi
(C) 10+ Biapt
(D) 5T Gidt

9, (BT T 75% T4 75-93 70 @ T
=, of A1 i =z | i’ =
(A) 150
(B) 200
(C) 225
(D) 300

10. 7 i< oAl AT TG TS 748 | O
T RO A 2o
(A) 188
(B) 186
(C) 184
(D) 174

Please Turn Over




BMRI/22

“41:7A, Band Cto gether can complete a piece of
work n 30 minutes. A and B together can complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

12. The recent UNESCO herltage status has
been given to

(A) Ugadi

(B) Durga Puja

(C) Bihu R
(D) Bhadu Song R

13. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

A) 121 hs,
(A) 5 s

(B) 6 hrs,
(C) 5 hrs.
(D) 4hrs,

14. The Jaldapara Reserve Forest is located in
(A) Assam.
(B) Odisha
(C) West Bengal
(D) Nagaland

‘ 15. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
(C) Jon Fosse

(D) Ben Okri

A4 ;

11. A, B 8 C 93Ite <36 1% 30 G ooy

afcameBaW@iWﬁ?soﬁﬁthwrc
G FEH 18 TR

(A) 60 "G
(B) 80 fafNEs
(C) 150 ™A
(D) 75 FFRG

12, 72 WEE'T o% (T @ SoRbE
heritage ©F (fST =W

(A) Taiiff
(B) Toft sfren
© R=

(D) =g |

13. #iF5t A @92 B, 10 951 '8 15 O TURFE

43T GIF '-’fleW&ﬂWWﬂWW sjef
TR

(A) 12% B!
(B) 6 %%
(C) 5351
(D) 49t

14, TERIAIG! SSARD @ T TS
(A) SN
(B) @i
(C) ~fowas
(D) wetiTiE -

15. 2023 At Afzre) R @it samim dig = ¢
(A) CETT FNCR
(B) TR s
(€) TATH
(D) & o
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16. 60% students of a school are girls. If the | 16, (AT FES SRAE 60% =) A6 |
total number of girls in the school is 690, then the LG GIE 690 & A A, T €2 FE R
total pumber of students in the school is SR A
(A) 1150 (A) 1150
(B) 1100 (B) 1100
‘ (©) 1200 (C) 1200
; (D) 1050 (D) 1050
7 17. Sea Salt contains . 17. A e @ Ywe w4 shiem TF.
: (A) Protein : (A) i
(B) Iodine (B) WAl
L (C) Nicotine ' © -
(D) Vitamin Dy R
18. The Grant of Diwani was given to the 18. croaifE oW SEE 336 3fE i @ |
English East India Company in (e Al Fal 70
(A) 1764 (A) 1764 \
(B) 1765 (B) 1765
(C) 1771 ©) 1771
(D) 1772 D) 172
r 19. The supreme insuranceregulator of Indiais 19. ©igearEd AW AN FIEE FAZF TN
the = (A) IRDA
(A) IRDA (B) PFDA
(B) PFDA (C) CRIDA
(C) CRIDA (D) CRISIL
(D) CRISIL
20. The Palk Strait separates India from 20. T o) Sireara e @ oo A
(A) Indonesia s 5@
(B) SriLanka L (A) TR
(C) Thailand B) St
(D) Maldives (©) TS
(D) AR
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21. The Portuguese were ousted from Bengal
by
(A) Mir Jumla
(B} Shaista Khan
(C) Mir Qasim
(D) Faiz Khan

22. TheHindu College was founded in the year

(A) 1818
(B) 1817
© 1819
(D) 1820

23. If78 is divided into three parts which are in

the ratio 1 : % : é, then middle part is
1
A) 9~
(A) 3

B) 13
1
© 173

1
@ 182

24. The Capital of British India was shifted
from Calcutta to Delhi in

(A) 1910
(B) 1911
(C) 1912
(D) 1913

25. TheFirst General Elections were conducted
in Independent India in

(A) 1951
(B) 1952
(C) 1953
(D) 1954

A-6

21 W AR G /R e
Bere A
(A) T e
(B) Ngarst <
(©) 7 3Fw
(D) T 4

22. TR erer Afefors zmies a A
(A) 1818
(B) 1817
(C) 1819
(D) 1820

23, 3 78 Wifore A Wt Row o1 @

TR SATS 1 % : é,wwvmﬁ??m '

1
(4) 93

@) 13

1
(© 175

1
D) 18-3;-

24. =re eRewa et e s
s fafeits garsiie o
(A) 1910
(B) 1911
(©) 1912
(D) 1913

25, XIq SRTeR A% AR W5 =W @ e
(A) 1951
(B) 1952
(©) 1953
(D) 1954

e

\
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26. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by the train to
cross a platform 220 m long?

(A) 45 sec
(B) 30 sec
(C) 40 sec
(D) 35 sec

27. Seismograph is used for measuring
(A) Tsunami
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

28. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs. 700
(B) Rs. 800
(C) Rs. 1000
(D) Rs. 900

29, Pratapaditya was the ruler of
(A) Jharkhand
(B) Jessore
(C) Barisal
(D) Natore

30. The Hirakud Dam is situated on the river
(A) Godavari
(B) Krishna
(C) Cauvery
- (D) Mahanadi

A-7
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26. 280 it wge @@ G 60 R/ @t
oifoe | 220 5RO W Alb Sfeww Frs
GAlw T© T AN
(A) 45 TS
(B) 30 TS
(©) 40 CTET
(D) 35 TS

27, B T2 @ e T JITO
(A) SRR ToFT
(B) TFiA #AlSaA
(C) TPeeire
) I ¥rE e

28, 1 Y (A B 5 T=CE 1350 Biet 77 8
8 =g 1620 Bre 7 2 | % BB A =/
(A) 700 Gzl
(B) 800 B
(C) 1000 Bt
(D) 900 Bist

29, efel=lifFe) (@ AT P fere
(A) AoHe
(B) T
(C) <=
(D) WBE

30. Raigw Ay (TR @7 MeT T
(A) CsimIRS

(B) =
(C) FERN
(D) W=l
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31. Neel Darpan was written by 31. Femsfd ogfoa @F T
(A) Rajanikanta Das (A) TERAPG Wi
(B) Dinabandhu Mitra (B) Rwag fim
(C) Mukunda Das (C) T W
D) Chittaranjan Das
®) ! : (D) emem st
32. The Earth consists of three-fourth water 32. “ﬁﬁaﬁ & ot Tt 9 93 s T, O3
and one-fourth land, which is o
(B) true "
B
(C) partly true ®) 73
(C) =P ey

(D) not scientifically proved

(D) G R o @iy

33. The 25th term of the series 2, 5, 10, 17, 33. 2,5, 10, 17, 26, ... Bitwlw 25e% % =™
26, o IS (A) 626
(A) 626 (B) 323
(B) 323 (C) 424
(©) 424 (D) 525
(D) 525 '
34. The present Secretary-General of UNQ is 34. TSN QT T2 ZE
(A) Kofi Annan (A) @ﬂﬁ S
(B) Butros Butros Ghali ) B) TG TG
| (C) Antonio Guterres (C; & -
| (D) None of the above ]
(D) Sl 83 7
35. A man bought 20 dozen eggs for Rs. 720, 35. 72059 T TS 20 wow % fimfee | ol

What should be the selling price of each egg ifhe JFEB 20% #1S (7S iy O mww
wants to make a profit of 20%? 3 :

$OY?
(A) Rs. 325
(B) Rs.3:30 . (A) 325l
(C) Rs. 360 ' 4 ', ' (B) 3-30 Gl
(D) Rs. 3-50 ' _ (C) 360 Bt
T (D) 3-50 Tt



36. In how many years will a sum of Rs. 3000
yield a simple interest of Rs. 1080 at 12% per
annum?

(A) 3
1

@) 2 )

(©) 2

1
®) 35

37. Anamount will double itself in 16 years at
a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
1
B) 6%

©) 8%

(D) 12%%

38. The Shanti Swarup Bhatnagar Award is
given for
(A) Performing Arts
(B) Peace
(C) Science and Technology
(D) Social Service

39, Two numbers are in the ratio 3 ; 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
(©) 75
(D) 90

40. The UNESCO Award for Kanyasree had
been given to
(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengat
(D) Assam
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36. S IR 3000 BT T 12% 07 A
3% 1080 Bl A2
(A) 3

1
®) 2
© 2

1
@) 35

37, i 779 o RS A 16 T2 I Bt
3t Red 23, AR T A TR
(A) 10%

leg,
®) 6,7
(C) 8%
(D) 12%%

38. i Tt SHAIE FTHF A &0 @SN
(A) =
(B) *if%
(C) Ret @ &
(D) e GFal

39, Wb A SO = 3 1 5 IR OIS AL,
7 225 | Q0! | =
(A) 45
(B) 60
(C) 75
(D) 90

40. TR 29w Goery MEfERe awE

TR’ T (U FFO FA R
(A) o=
(B) SIfEFIg
(©) “AResa=
(D) A
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*41. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
B) 15%

©) 16%%

D) 16%%

42. The lastand the tenth Guru of the Sikhs had
been :

(A) Guru Teg Bahadur
(B) Guru Hargovind
(C) Guru Gobind Singh
(D) Guru Har Kishan

43. If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is

(A) 12:5%
(B) 13%
(C) 13-5%
(D) 14%

44. In an examination, 93% of students passed

and 259 failed. The total number of students .

appearing at the examination was
(A) 3700
(B) 3850
(©) 800
(D) 1000

45. The Doctrine of Lapse was introduced by
(A) Lord Cornwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

A-10

41. REPETR 8o 20% #% o=, THEE
Toig I > H® 2
(A) 25%
B) 15%
©) 16%%

D) 16%%

42, TR TRERIE T R AN o e
(A) OF Cool TP -
(B) o Taicw
(C) o ¢oiffaw e
(D) oF 27 &3

43, I 186 caEw TEyEn 166 GEEw
(A) 12:5%
(B) 13%
(C) 13-5%
(D) 14%

44. 3B 49T, 93% =i S I 972 259
T BIG (T AR 92 AT GG FoeH ®Y
Teifye fomTe

. (A) 3700
(B) 3850
(C) 800
(D) 1000

45. Tifder R A A Sers fBew
(A) =€ Fhemifert
(B) =16 SEEFR
(C) =16 ©Iei®f
(D) 76 FizS
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- 46. If738A6A s divisible by 11, then the value 46. A% 738A6A 7l 11 ol [Reten =, Y
of Ais 1 AN
(A) 6 (A) 6
(B) 9 : | ®B) 9
) 3 (©) 3
O 1 D) 1
47. If the ratio of the cost price and the sale 47, I @I TET FIET e ReTETa wAe
price of an article be 5 : 6, the percentage of gain = 5 : 6, T FITed HoTd A =W
(A) 25%. (B) 20%
(B) 20% () 18%
©) 18% D) 15%
(D) 15%
48. The Sreerampore Trio comprised of 48. Farels g M I +Afe
(A) Clive-Watson-Watts (A) FiRS-eTHF-SAHH
‘(B) Carey-Marshman-Ward (B) @R--e TS

(C) Lal-Bal-Pal

C " _
(D) Hastings-Cornwallis-Shore ©) =E-aE-#Ai

(D) EFHEIHeTE-CNT

1

49, If % of A = 75% of B = 0-6 of C, then 49, T A3 -§=B-<£I74' 75% = C-47 0-6, T
A:B:Cis A:B:C™
(A) 9:5:4 (A) 9:5:4
(B) 9:4:5 (B) 9:4:5
(C) 4:5:9 (C) 4:5:9
D) 5:9:4 (D) 5:9:4
50. The Small Pox Vaccine was invented by 50. . &% e T SiReEeEa Aw =
(A) Joseph Lister B (A) T FEoR
Eg)' Ron.alc:1 Ross B) @S T
) Edward Jenner
GBeTs (HIF
(D) Jonas Salk © e
- (D) & A
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51. Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

52. The ratio between two numbers is 2 : 3, If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
(B) 6
(€ 2
(D) 4

53. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

16
the value of the fraction is 21 - The original

fraction is

(A)
(B)
©

Ww b 3]s <t

(D)

54. The book Arthashastra was written by
(A) Baudhayana
(B) Chanakya
(C) Panini
(D) Patanjali

55. The Aravalli Mountains are located in
(A) Jharkhand
(B) Rajasthan
(C) Afghanistan
(D) Bihar

A

A-12

51, (BN TEF FIETT ©oiF A TS

O ITT 10% @ 20% et €3 vea RemE = 720
Il | 6% TH FHLT

(A) 1000 Bt
(B) 1200 Giet
(C) 900 Bt
(D) 1100 B

52. QO ALBIATTAS 2 : 3 | I ATSTS TG 4 T
i #1138, SN SIHE AT T 5 : 7 lwwaﬁww;
==

(A) 8
B) 6
© 2
D) 4

53. T 436 Saiicea 79 20% I AW 9R T
10% 31 A1, O3 Sl T =7 %GI I
3

(A)
(B)

©

W v <]k 3w

(D)

54. Sy oge T e
(A) TR
(B) BIRm
(C) A
(D) ~togf

55, SE SEoNEl (@A SREe
(A) Vree
(B) =ergm
(C) wwifgte
- (D) ==




56. Discovery of India was the work of
(A) Mahatma Gandhi
(B) Kalidas
(C) Jawaharlal Nehru
(D) Badshah Khan

v §7. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
Then the ratio of their radius is

(A) 3:8
B) 4:3
(C) 2:3
(D) 3:4

58, % of 64 +30% of 7= 121

(A) 270
(B) 250
©) 125
(D) 225

59, The two west-flowing rivers of India are
(A) Krishna and Godavari '
(B) Brahmaputra and Ganga
(C) Sone and Chambal
(D) Narmada and Tapti

60. Iftheradius of acircleisincreased by 10%,
then percentage of increase of its area is

(A) 17
®) 21
(©) 12
(D) 15

A-13
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56. ‘el o e’ 9gd 14T e
(A) TR i@l
(B) Fifem
(C) TaTFeTE P
(D) itz 4

57, %t PfEmiEe STsEs oo 3 : 8 9
G SO TS T 2 : 3 | S JIE Sioie
(A) 3:8
(B) 4:3
(©) 2:3
(D) 3:4

58. 64-<¥ % + 299 30% = 121
(A) 270
B) 250
©) 125
D) 225

59. Sfreg 4t sifew S wwig wm &=
(A) T (IR
(B) T[T % 5
(C) ¢ '8 bR
(D) T «@3g offe

60. i I Joed I 10% IH #iE,
o7 CraweE 3T eIl |

(A) 17

(B) 21

(©) 12

(D) 15
Please Turn Over
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61. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain

62. The value of xwhen 5% of /2 x is0-01 will
be

(A) 0-03
(B) 0-02
(C) 0-01
. (D) 005

63. Divide Rs.450among A, B and C such that
A:B=2:3andB:C=6:5. Share of Cis
(A) Rs. 90 ;
(B) Rs. 100
(C) Rs. 150
(D) Rs. 120

64. If ab, bc, x and c? are in proportion, then
find the x, if none of these is equal to zero.
(A) a’c
(B) c%a
(C) ac
(D) ac?

65. The difference of 5-76 and 2-3 is
(A) 2-54
B) 373
(C) 3-46
(D) 3-43

A-14

61. e Xfeaa (@ wet (UeE Mo &
(A) Frerm v
(B) ~bifeEaR
(C) ~gan
(D) &=

62. T 2 x 99 5% T 0-01, A x- 9T AN LA
(A) 003
(B) 0-02
(C) 0:01
®) 005

63. 450BFITF A, B IR C- 9T WG AT S5
TNOYITA:B=2:398B:C=6:51C«4d
SUE

(A) 90 B
(B) 100 it
(C) 150 5t
(D) 12051

64. T ab, b, xS 2SS TF, T4 x4 T

. el T, I i Rt G R |

(A) ac
(B) c’a
(C) ac

(D) a2

65. 5-76 8 2-3-9T I W
(A) 2-54
(B) 3-73
(C) 3-46
(D) 3-43
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66. The United Nations Day is celebrated:every
year on '

(A) October 25
(B) October 24
(C) September 5
(D) July 4

i 67. Find thelasttermin the following numbers:
230, 246, 271, 307, ?
- (A) 412
(B) 356
" (O 518
(D) 612

_68. The vaccine for Kala-azar was invented by
(A) Amalesh Tripathi
(B) Upendranath Brahmachari
(C) Hargobind Khorana
(D) Shanti Swarup Bh_atnagar

69. Megasthenes was the author of
(A) Milinda Panho
(B) Indika
(C) Periplus
(D) Tarikh

70. A manbuyssome articles atRs. P per dozen

and sells them at Rs. % per piece. His profit
per cent is

(A) 30%

(B) 40%

(C) 50%

(D) 60%

A-15 BMRI1/22

66. ATRT i ~lifere =7 afegerm
(A) 25333
© (B) 24 SRR
(©) 5CHFT
(D) 4R

4

67. Fafae myalm ot oW Sfa s
230, 246, 271, 307, ?

(A) 412

(B) 356

(C) 518

(D) 612

[y

68. IR o wRwaces s &=
(A) ST o
(B) SrsiemIy F=mIRl
(C) =z
(D) =% w2 o

69. NTEE wE B otgg A
(A) e sim
(B) 2
(C) csifaas
(D) wifed

70. ¢3 JF 9T Tow &wA P G0 @ GR

s et - S s 901 O Tl %

(A) 30%
(B) 40%
€ 50%
D) 60%
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71. Who was killed by the ‘Deccan Ulcer’?
(A) Akbar
(B) Babur
(C) Aurangzeb
(D) Shah Jahan

1), (1).(25);
72. The square root of (4)x[49) : [121) is
11 '

5
1

(A)

[

(B)
' (&)
®)

Sl l=g={ -}

73. Kabuliyat and Patta were introduced by
(A) Akbar
(B) Sher Shah
(C) Babur
(D) Aurangzeb

74. A man sells two chairs at Rs. 120 each and
by doing so gains 25% on one chair and losses 25%
on the other, His loss on the whole in Rs. is

(A) 20
(B) 16
© 25
(D) 30

75. The single discount, which is equivalent to
three successive discounts of 25%, 20% and 10%
is

(A) 46%
(B) 54%
(C) 55%
(D) 45%

A-16

71, WS S @ AT g R
TERE G
(A) ST
(B) 159
(C) wesTE
(D) HzER=

7 (He(5)+(2 v

4] \49 121
(A)

(B)

|~ 3| w=

©)

SN
[Py

(D)

~|

73. TS ¢ G Y (T ¥ Bie] FRA o
W
(A) SR
(B) ¢
(C) AT
(D) SNEIET

74. 9% & 120 SR 4G GANCH droraiv e
I QR G BN 25% =S W 8 G0 25%
=% W | (Il o7 =6 =7 (i)

(A) 20 '
(B) 16
(C) 25
(D) 30

75. <3 e @es, T foalb Fuve es
25%, 20% 932 10%~9% F17 27, Ol 7
(A) 46%
(B) 54%
(C) 55%
(D) 45%




76. Ifthe cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 375%
(B) 30%
(C) 42:5%
(D) 45%

77. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

78. ONGC is involved in
(A) Space Research
(B) Medicines
(C) Oil Exploration
(D) Defence

79. A and B together can do a piece of work in
12 days while B alone can finish it in 30 days. A
alone can finish the work in

(A) 15days
(B) 18 days .
(C) 20 days
(D) 25 days

80. What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
(B) 69
(©) 59
D) 49

A-17

(A) 37:5%
(B) 30%
(C) 42-5%
(D) 45%

71, o3 S &a
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 watts

(A) TEE sleae!
(B) ey

(C) 1o SrpTHe
(D) aAfsa

(A) 15 7=
B) 18 W
(©) 20T
(D) 25 WA

TR @b spfasl et 7@ e
(A) 39
(B) 69
(©) 59
D) 49
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76. 107 <@ Ty I 167 787 Remgena
A T, L4 A6 O 2 '

78. ONGC #1226 @ FteR 75 §&

79. A8 B O3S e 12 it $0a @AE B @63
FEl 30 M 13 I 1 A < 62 Tl o g

80. 1780 FPilow Al ToieE 9 (@ISl FAE
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81. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

82. Beri-Beri disease is on account of the
deficiency of

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

83. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google
(B) Apple
(C) Microsoft
(D) IBM

84. If a * b =a?, then the value of 5 * 3 is
(A) 125
(B) 243
(C) 53
(D) 15

85. The Calcutta Medical College was
established in the year

(A) 1834
(B) 1835
(C) 1838
(D) 1839

A-18

(A) (ST FeE
(B) 3 &
(C) ¥ o=

)
81, TEAER LR TEW
(D) Gl &

82. FaERe it weik R-EJR @i
TR .

(A) feoifim A
(B) feuifsm B
(C) TeBifim C
(D) foBfm D !

¥
)

83, e (ol67 R #f1 SOIF @3 AN @& o
AL T 8
(A) Google
(B) Apple
(C) Microsoft
(D) IBM

84, M a* b=a? W, O 5 * 3T AW
(A) 125 '
(B) 243
(C) 53
(D) 15

=

SS,WWWWWN

A= ’

(A) 1834
(B) 1835
(C) 1838
(D) 1839
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86. By selling an article for Rs. 1400 a man lost
30%. Atwhat amount should he have sold it to gam
30%"?

(A) Rs.2600
(B). Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

"87. One of the following countries is not a
permanent member of the United Nations Security
Council.

(A) USA
(B) England
(C) China
(D) Japan

(2-3)° —0-027
88. Whatisthe valueof > ?
(2-3)" +0-69+0-09

(A) 03
(B) 23
© 1 .
D) 2

89. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) QOdisha
(B) West Bengal
(C) Kerala
(D) Sikkim

90 [%J thof (%) th of a number is 240, What

is the number?
(A) 12
(B) 1200
+ (C) 48
(D) 4800

A-19 BMRI/22

86. =it IF 1400 BT {fF Ta7 w9 fox
30%%%:@1%‘1%31@?@%%@?@@
e 30% e 757

(A) 2600 B
(B) 1500 5
(C) 1800 Bt
(D) 2000 St

87. Fefie gl aigmaw Rara «famm
I T 7T |
(A) T gy
- (B) 2wS
(C) B
(D) =i

" (2:3)° -0-027

88, — 4% W 2
(2+3)* +0-69+0-09 '
(A) 03
(B) 2:3
© 1
) 2

89. T FTH (T FEkRe aiegh <reoriE
WA eI e

(A) efeet
(B) e
(C) A=
(D) B

90. (JFITAIHAL (%)ma (115) s gt 24027,

O R Fo e

(A) 12
(B) 1200
(C) 48

(D) 4800
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91. The Reserve Bank of India was founded in
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur
(C) Nagaland
(D) Mizoram

93. A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres
(B) 7 litres
(C) 5 litres
(D) 3 litres

94. The speedof abusis 72 km/hr. The distance
covered by the bus in 5 seconds is

(A) 50 m
(B) 745 m
(C) 60m
(D) 100 m

95. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
(D) Bipin Chandra Pal

A-20

91. orrea fTers i fee =
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. (FAIFOIT TH (X AT WAZS
(A) Ffw
(B) Wz
(C) FetenS
(D) Temam

93. W4 & TFA «3h 40 &R et 10% o
Hire | B A & (1! FA0E TG FEred 20% S
QA2

(A) 10 f&ora
(B) 7 feiora
(C) 5o
(D) 3 &b

94, <3 AR sfe = 72 Befi/ e A 5
GRS ([ [AY SOFs FAET—

(A) 50 fio
(B) 745 fivra
(C) 60 fibra
(D) 100 fiora

95, fAsfelRe TNT amEsH wEie AfRbe
feree
(A) FEEe SR
(B) cenifemie ré
(C) TateRy SR
(D) fafo= v& ==

-




96. Thelargestnumberamong2-6,2-066,2-66,

2-08 is
(A) 26
(B) 266
(C) 2-066
(D) 2-08

" 97. The Asiatic Society of Calcutta was founded
in the year

(A) 1784

(B) 1785

(C) 1786

(D) 1792

98. The filament of an electric bulb is made of
(A) Hydrogen
(B) Tungsten
(C) Halogen
(D) Mercury

99, If 90% of A =30% of B and B =x% of A,
then the value of x is

(A) 300
(B) 800
(C) 700
(D) 400

100. A boat can run 13 kmv/hr in still water and
speed of current is 4 kim/hr. In how many hours the
boat will cover 68 km downstream?

(A) 2
(B) 3
(&
D) 4

A-21
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96. 2-6, 2066, 266, 2-08 FfER T FCo!
AN Za
(A) 26
(B) 266
(C) 2066
(D) 2-08

97. el e aFEife EIEEl @ i ofefe
R .
(A) 1784
(B) 1785
(C) 1786
(D) 1792

98. wagfess qras RS G diga tof a6 =
(A) ZRgEw
(B) Biwow
(C) Qe
(D) #rm

99, I A~99 90% = B~499 30% €3 B = A-49
X% T, 4N x99 99 T
(A) 300
(B) 800
(C) 700
(D) 400

100. <36 (Mg B o 13 FR/95 9]
g < S = 4 B/ @irer S
GG 68 6 @re T 9561 Aoy ioitg 2

(A) 2
B) 3
© 5
(D) 4
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1. AandB start from the same place and travel
in the same direction, B starting 2 hours after A. If
Atravels 40km/h and B travels at 50 kmn/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100 km

2. If % of my pocket money is ¥ 60, then the

total pocket money I received was
(A) 100
(B) 120
(©) T 150
(D) T 180

3. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

(A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrumentis
made

(D) The instrument player’s skill level

5. An 12 metre flag pole casts a shadow

15 metre long. If a flag pole is 20 metre long then

the length of the shadow be
(A) 25 metre
(B) 60 metre
(C) 30 metre
(D) 22 metre

1. ‘A 93 B 932 TRl (40 GR G52 s g
oF (@ 6 B I ©F FE AT TG 9F /T
295t At |9 A-97 sifSraet 40 R¥fi/ 9% 93 B-ad
sifScasi 50 R6fl/ 9%t 27, o1 T @E 2@ B, A&
R A2

(A) 400 &
(B) 200 &R
(©) 500 =
(D) 100 ff

HEEH R AR
Ve g
2. IF ST eAwd 5 T 27 60 Bl B

i ZreLFE ColmfeET™
(A) 100 B=i
(B) 120 %=
(C) 150 5=
(D). 180 Bl

3. @F AE WAT T SIECS wael
e =m0 e
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4, @36 AT T Tesifre g =g Bis a1
et FdRd 9@ oW A wiE He
(A) TCEF ST
(B) e S o
(C) & TAMF (4L T CofF TR
(D) TS (ATRI TFO B

5. w12 il ="l Aeoremel 15 it =t
mwﬁmmﬁmﬁwmﬁmwm
@ O A O &3

(A) 25 fio=
(B) 60 filGia
(C) 30 for
(D) 22 fior

———



6. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) Ist May, 2010
" (C) 1st April, 2008
(D) 1st April, 2010

7. The leaf size of vegetation is a function
of —
(A) Temperature
(B) Moisture Availability .
(C) Altitude
(D) Temperature & Moisture both

AN |d

8. The President of the Swaraj Party was
(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M. R. Jayakar

9. Ata certain school, there are 320 boys and

L
% for girls. What is the average

180 girls. The average absenteeism rate is 6
for boys and 8l

3
absenteeism rate overall for the school?
(A) 8%
b 1
’ B) 7-5-%
A (C) 7%
) 6%
3

10. Brahmaputrarisesin Tibet whereitisknown
as

(A) Tsangpo
(B) Megna

{C) Rakasthal
(D) Yamuna

A3
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6. ©rTS SRHR wizn T w1 Lafes
(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) 1st April, 2010

7. ﬂfﬁ‘?ﬂﬁﬁ “ffora ST deiie @—
(A) sl
B) SiEet sfierel
(C) Ewel
(D) Sl 9 gt Teng

8. TG b7 Aeiife e
(A) wfeeTa (e
(B) 9. A, WETH
(C) Tosaem v
(D) @, W, TIFF

-

9. i e =, 320 oW I R 180@51—-{
aﬁwm|wmwﬂ@iﬁmﬁ6 —%

R fFTE 8 % |m§mmwﬂﬁf®m
TE?

(A) 8% \
o1

®) 7%

(©) 7%

D) 6%%

10. ITER Seslfaze fots, eI < @
i #Hfafoe—

(A) Fgeen
(B) GUoAl
(C) TP
(D) T

Please Turn Over
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11. The compound interest for ¥ 4,800 for
2 years at 5% per annum compounded annually is

(A) T492
(B) ¥5,292
(C) T229
(D) ¥ 5,390

12. The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882

(D) 1984

13. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5 AM
B) 8 AM
(©) 11 AM
D) 2 AM

14. For 18 days of work a man is paid € 1,530.
For 30 days how much will he be paid?

(A) 2,380
(B) T2,500
(C) ¥2,580
(D) Z2,550

15. Taps A and B fill a tank in 4 hours and
6 hours respectively. Tap C of the tank empties in
12 hours. If all 3 are open, how long will it take to
fill the tank?

(A) 5 hours
(B) 5.5 hours
(C) 3 hours
(D) 3.5 hours

A4

11. 3RS 5% A 4,800 51717 2 T2 bargia I
ES
(A) 492 B
(B) 5,292 Tt
(C) 229 B
(D) 5,390 B

12, SIAOT AT HiZA &I© T (PIA AN 2
(A) 1897 W ¥
(B) 1899 AT
(C) 1882 T
(D) 1984 AN

13, Treg e Fos ficfes 9 9% seg
3y fAre | 7 7 29w Sy 7 11 01 e s
©[ 8- S F-OIW (A

(A) IS 557
(B) s 8 Big
(C) F=iet 11 531
(D) 3fq2&Gm

14. 92 @ 18 fes SR &0 1530 Bt
/17 | S 30 [T &+ T B Al e

(A) 2,380 Gt
(B) 2,500 Gt
() 2,580 Bt
(D) 2,550 Bt

15. <3l FrmIE A B 75 75 IR 4 9%

'8 6 9B A P | 7 C GiAwifoes 12 7%m A

wra | 3 o9 9 R (QieT =@ ©E IR
IS s 1

(A) 5%t

(B) 5.5 9%t

(C) 3 9%t

(D) 3.5 9%



" 16. In asale, on a washing machine marked at -

¥ 7,500 2 20% discount was given. The owner still

makes a 20% profit. What was the machme' '

originally cost him?
{A) ¥5,000
(B) ¥6,300
(C) ¥5,500
(D) T6,000

17. By se:',llin.g,r a complit_er for¥ 36,000, a dealer
makes a 20% profit on the cost price. At what price
should the computer be sold to make a 25% profit?

(A) £37,500 =
(B) % 38,000

(C) T38,500

(D) ¥ 39,000

18, The greatest 4-digit number which is a .

- perfect square is
T (A) 9999
(B) 1000
(C) 9801
(D) 9900

19. Sum of the all factors of 24 is
(A) 12 '
(B) 36
(C) 48 . -
(D) 60

20. A car is travelling at a speed of 70 km/h.

What would be the dlstancc travelled by the carin
24 minutes?

(A) 28 km
(B) 35km
(C) 30km
(D) 25 km

A-5
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16. <36 G, 7,500 BiF vt emER @i
T 20% 2T (Re! 2oz | MR B8 20% e
Tes | M enifr el T vim Rwfaeme

(A) 5,000 5=
(B) 6,800 Bt
(C) 5,500 G
(D) 6,000 G

17. 936 FPTBE 36,000 Bt g i 0@
GTE [T FIIETT 20% e | 25% T
00 FHEsET e v i Tace 7@

(A) 37,5005
(B) 38,000 BrF
(C) 38,500 GIFI
(D) 39,000 G

18. 4 SITER RSN I WG =&

(A) 9999
(B) 1000
(C) 9801
(D) 9900

19, 2497 FANE ST (T T
(A) 12
(B) 36
(C) 48
(D) 60

20. 96 «itfen «ifsast @ 70 /a6,
24 TR AT v 1oy ey Faae
(A) 28 Bf
(B) 35 @M=
(C) 30 =f
(D) 25 ff
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. 26. Find the value of xif 5 is written in the form

27. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
(C) Grape
(D) Wheat

28. Phillip and Kevin made 60 paper flowers. If
Phillip made 3 paper'flowers while Kevin made 2,
then how many did Phillip make?

(A) 36
(B) 24
(© 30
(D) 20

29. Inasaleallitems price are reduced by 25%.
If a customer paid ¥ 6,750 for a sound system,
then what was the regular price of the sound
systemn? '
(A) 27,000
(B) 20,250
(C) T9,000
- (D) T5,400

30. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26

questions are answered, Raghu scored 0, how

many questions did he answer correctly?
(A) 13 :
(B) 10
(C) 15
(D) 18

CMRI/22

26, x-7 TN T TR TIH 5-(F @A D

2+i_2
1+=
X

(A) 3
(B) 2
(©) 6
D) 8

27. Viticulture @ I8 AW 7=Fe # wi—
(A) STt
(B) I
(C) =g
(D) =

28. Tl @92 few s 60 5 o = tefy
FF | I et 3 B ot ot v a9 fem
2 6 ¢t w7, wrg Referst (aiG -6 teivera a1 0o fF
FE=?

(A) 36
(B) 24
(C) 30
(D) 20

29, G G SR &H e vty 25% 2o ored
o | e Wi 6,750 B @ oS Fisw

(T, O1 (169 TSl v T By

(A) 27,000 B
(B) 20,250 51
(C) 9,000 A
(D) 5,400 Gi=t

- 30. w3 WifeT smwa AdEE ool A
T &+ § T (RO T W3R 2T wo Terma v
5759 Di6I W 1 TW 26 6 2fveid Tow AT #19 R
T 0, o3 Touf ariw T o1 Aidw feafes ¢

(A) 13

(B) 10

©) 15

(D) 18

Please Turn Over




CMRI1/22

31. Which Vitamin is known as Riboflavin?
~ (A) Vitamin B,

(B) Vitamin D

(C) Vitamin C

(D) Vitamin A

32. A man and his son set out for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
) 120

33. The best way of providing value education
is through
(A) discussions on scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.*

(D) mentoring/ reflective sessions on
values.

34. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

(C) 1stJune, 2000

(D) 1st October, 2000

35: Under which Article of the Constitution of
India can an individual move the Supreme Court
directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
(C) 32
(D) 34

31. @ feuifim fawmfen aim ofefeee
(A) oot B,
(B) f&of== D
(C) TSI C
(D) fouifa A

32. 930 (=71 I3 Ol (RCE1 600 (79 T | (=T
TG Yist ©IF o 1% «itsis ga-gormie | 7 fret
120 & 4ot (7, O3 =z Tl 4ivt (e

(A) 60
(B) 80
(C) 100
(D) 120

33. OEIEE Pl aRles Safen S/
=
(A) =B o113 e e |

(B) SEUCEINLT B Ige! Wi |

(C) TR SoF ifmr i Fireaiifern

(D) TECANAT Bolw GTOfa Al T AicE
Afe%fes o |

34. w2 4% Wi, 2000 FRET TAET—
(A} 17th October, 2000
(B) Sth June, 2000
(C) 1st June, 2000
(D) 1st October, 2000 -

35, OISR RS (A S S (N
wigFRelE wme oFr  IE e TEE Afem
I (TS G ?

(A) 13
(B) 14
(C) 32
(D) 34
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36. Write the next term of the series.
5,11, 19,29, ...
(A) 39
(B) 41
(©) 40
(D) 42

37. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
a mountain.

(C) the ring shaped coral reef.
(D) a group of islands.

38. Rakesh sold his bike at a loss of 20%. If he
sold it for ¥ 5,400 more, he would have sold itata
10% profit. How much did he pay for the bike?

(A) ¥ 18,000

B) % 10,000 |
(C) 20,000 S,
(D) ¥22,000 Lo

39. The Parliament of India consists of
(A) Lok Sabha '
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

40. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥240 as interest at the end of loan period. Thus
the time period he has taken to return the loan is

(A) 4 years
(B) 16 years
(C) 8 years
(D) 2 years

A9
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36. (xfag sfg<el 7B =t |
5,11,19,29, ...

(A) 39
(B) 41
(C) 40
(D) 42

37. Qivisig ==
(A) IS HTSIT & |

(B) ATRITSH 51l IHRE II0E A A S
A

(©) B =ieT a1 abla)
(D) Retelted a3 W |

38, AEOIH FBEIRLRA S 20% Fiore f[Ale
FAfE | 3 ol =e 5,400 Bt @M Frew v
o 10% =fe AT #iFTen | B3 o b o
@GR [t ?

(A) 18,000 Bt
(B) 10,000 Bt
(C) 20,000 it
(D) 22,000 Bt

39. ©lred AT AC TAE—
(A) @EITE!
(B) FIRwTe] @ AregHe!
(C) TRATS w= R oA
(D) SiTIa @3 72 26

40. I 1,500 B 9a W 419 Nfes 1o
IAA T OO AR a2 T, 240 B fam
(1 9IS 19 T, O ©IF 419 G4 I STAFDIAD 23

(A) 439
(B) 16 =8
(C) 8=g
, (D) 29=d
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41. The habitat of the Toda tribe is
(A) Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

42, Which Indian state recently announced a
Universal Health Care Program providing free
medical treatment to all residents?

(A) Maharashtra
(B) Uttar Pradesh
(C) Kerala

(D) Tamil Nadu

43. The value of a new car is ¥ 4,00,000. If in
the first yearits value is decreased by 10%, find the
value of the car in the beginning of the second
year?

(A) ¥3,96,000
(B) ¥3,00,000
(©) ¥3,60,000
(D) ¥3,20,000

44, If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) T2,05,000
B) ¥ 1,25,000
(©) % 1,05,000
(D) ¥ 1,50,000

45. A square PQRS is drawn on a paper and it
was folded in half to form a rectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15cm
{B) 60cm
(C) 50cm
(D) 40cm

41. (Grot Soefoq SRR
(A) 9ERE @8
®) e @y
(C) &7 @
(D) Tfafa =tzre

42, OIS (@I ey TS a5l Toerta
(T (A (AN el FCACE, TS DA
Ry il emie weae

(A) TG
(B) Toadm™
(©) aE!
D) SifEg

43, 6 TG %= 3FT 4,00,000 Bt | 7 gfew
I ANf%T o0 10% @ W, OF HTow IwT
GFCS AT 0 T A2

(A) 3,96,000 G
(B) 3,00,000 51
(C) 3,60,000 B
(D) 3,20,000 Bt

44, % 5 o @ENFT @G 4% Feg wEw =
3,75051%, 206 (T G ALY TG @ENTFAR?

(A) 2,05,000 5=t
(B) 1,25,000 Bt
(C) 1,05,000 Bi=st
(D) 1,50,000 Gizst

45. Fo0E GTH PQRS ICHa WF T €3
o ods Sim ™ 96 30 @R ARERRR
ToeE Cofd T4l 26 | O PQRS-9F AR ==

(A) 15 &M
(B) 60 ™
©) 50
(D) 40 @MW

——
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-46. 55% of the population of a city are male,

25% of the male population and 20% of the female
population are under 21 years of age. If the

population of the city is 10,000, find the ratio’

between the total population of males and females
who are under 21.

(A) 55:36
B) 11:9
© 5:1
(D) 5:4

47. A tap drips water at a constant rate of
0.03 ml per second. How many litres is that per
day? .

(A) 2592 o

(B) 0.2592 LA

€ 01080 " 7
(D) 2.592 .

48. The ratio of girls to boys who voted in the

electionis2 : 3.If 10more girls and 5 more boys were
voted, thentheratiowould have been 3 : 4. Hencethe
total number of students voted altogether is

(A) 325
(B) 235
(©) 125
(D) 532

49. The geological period to which major coal
deposits of the world belong is—
(A) Cretaceous
{B) Jurassic
(C) Devonian
(D) Carboniferous

CMRI1/22

46, AR QIS IR 55% 2 %, AFE

SR 25% GR TRA TRAF 20% T 21 ET
T | 7% *gEa G ARG 10,000 78 O 21
TR WG+ @ WA IR Sgsie e el |

(A) 55:36 :

(B) 11:9 '

© 5:1

(D) 5:4

47. @3 7 (3 BT @ 0.03 REHGE =
AfS TS “it3 | oF Ao T BT ww?
(A) 2592
(B) 0.2592
{(C) 0.1080
D) 2.592

48. (N IR AWF Wug FE o o
NS Z5T 231 10 T I G 5 O A
e (off 18 o wgee T 3: 41 O @6
CoionIet YARIEFRY! T

(A) 325
(B) 235
(©) 125
D) 532

49. RTae 4 e A2 Soifes @ A
wgsfe (16 25—
(A) TFiefam
(B) e
(C) ereifm
(D) R

Please Turn Over.
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50. A container when half full holds 3.6 litres.

How much more fluid is needed to make it % full?
(A) 7.2 litres
(B) 4.8 litres
(C) 1.2 litres
(D) 2 litres

51. Theareaofa squé.re park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(A) 72m
(B) 94m
(C) 68 m
(D) 80'm

52. 20% of a number is equal to L , then the-

. 30
original number is

(A)

= o\

(B)

1
© 7
O) 1

53, Twotrainsaretravellingtowardseach other
on adjacent tracks. The first train is 86 m long and
is moving at 120 km/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
(C) 8 Sec
(D) 10 Sec

50. 9B “Al T WS ©fS 7m, O 3.6 oo
wqmmﬁw%wwwfémwww
[GEEACEG R TR

(A) 7.2 FiorE
(B) 4.8 FivrR
(C) 1.2 =5
(D) 2 FoE

51. aﬁaﬁmmmﬁamaﬁm@w
2 T Ty 96 B @R &7 54 Rl o crasa
I | TR Ao OB mtﬁ‘iﬁ o

A) 72
B) 941
© 680
@) sof

52 b ALPIF 20% % T, 1 AL A
( A) o
(B)

(©
)

A 1 Y i - Y e

53, 9% @G stTvitaa e qa wE AR
(TR | 299 Goa 786 Rt «ae «ifrael
120 B/e%1 @8R Gatw ™d 64 6 @
sfere 150 Bf/a% v Gee 47 GasH
freorae e wite™ T

(A) 5 CTFE
(B) 2 CTFS
(C) 8 CIFe

D) 10 e

o
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54. District Primary Education Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
(D) 1956

55. The 1st Woman President (1917) of Indian
National Congress Party was

(A) Annie Besant

(B) Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

. 56. Epigraphy is—

" (A) The study of inscriptions
(B) Graphical Map

(C) The detection of epics
(D) The study of epics

57. Who is regarded as the Father of Algebra?
(A) Al Khwarijmi
(B) Aryabhatta
(C) Ramanujan
(D) Pythagoras

58, ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
(C) Arundhati Roy
(D) A.P.J. Abdul Kalam

CMRI/22
54. (== &S Ml (DPEP) Tr{ew o% =8
(A) 1990 FT
(B) 1994 FT
(C) 1998 A
(D) 1956 i

55. SIS SRR A7 et afEeoref
(1917) T :

(A) =i @M%

(B) e ey
(C) @& omed

(D) Sl ST GiA)

56, Epigraphy &i—
(A) et wras
(B) aifFr== Wafea
(C) NRFT e
(D) TSI SFIA

57. Fiw Azefdced o= I e
(A) = ATtz
(B) wIdeE
(Cy SMegEm
(D) foriTsiam

58, ‘Ignited Minds’ 19 741 iR ?
(A) = Rt
(B) (5o ©®
(C) wwFmel A .
(D) @. 1. (=, s e
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$§9. Godaan was written by
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand
(D) Aurobindo Ghosh

60. The motto “SatyamevaJayate”-Truthalone
triumphs is written in ’
" (A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script
(D) Kalinga Script

61. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
(C) Ford Maker
(D) A liberated human being

62. If 3 cans of dog food will feed 2 dogs for
1 day, then how many dogs can be fed from42 cans
for 4 days?

(A) 6
(B) 5
(€ 7
(D) 8

63. Rahul can dig the garden in 30 minutes,
while his father takes 20 minutes. How long should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min

A-14

59, ‘comn et
(A) FAFEAIL AP
(B) T carwbin
(C) e
(D) =@

60. TRRT ‘TR T’ T 9L GIR
(A) mIeidt Bl
(B) s &fFce
(C) ug feifsico
(D) 3ferex fifor-co

61. SiefEg Mw—
(A) fomem @) I
(B) worm
(C) ¢ fffel

(D) e &R AvF

62. =t 3% FRea 4RI AT (AT S TR
1 i e w19, w425 Gt fow
4 fas Tl TReare WSAF A
(A) 6
(B) 5
© 7
(D) 8

63, waﬁmﬂﬁ@wmﬁﬁ%mmw
OrF 3191 20 TG AR SISt 1991 YA 1 T4
O Y IS ¢

(A) 10 &5
(B) 1275
(©) 15 = {5
(D) 6 fifG




64. Wind rose diagram is used to represent
which of the following?
(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

65. If x’ = 3 then the value of ¥ — 25 is
(A) -13 '
(B) 30
(©) 56
D) -15

66. Which Viceroy introduced Cooperative
Society in India?
{A) Lord Curzon ’
(B) Lord Wavell -
(C) Lord Ripon
(D) Lord Comwallis

u

67. Who among the following can be removed
By the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Governor of a State

(C) Chief Election Commissioner

(D) Comptroller and Auditor General.

68. It costs of a family of two adults and three
children ¥ 2,800 to go to a show, If a child’s ticket

cost % of the price of an adult’s ticket, then the

cost of an adult’s ticket is
(A) 600
(B) ¥800 \
(C) T500
(D) T700

A-15 CMRI/22

64. T CIE G Nwod (@6 ST
T YIS TH?
(A) QYT IS AT
(B) & W R RS ZR Wy
qqMT
(C) o e w3 SsEre
(D) syig e ot

65. A 1’ =3 7, O £ - 2597 W I
(A) 13
(B) 30
(©) 56
(D) 15

66. (T Viceroy ©RIE FAE AMRS Bl
PRI 2 '
(A) 16 e
(B) =16 eives
(C) =16 fsix
(D) =TE gfarim

67. LIRS (RGN 2el Ageife Mo wite
HARIAY FICO A2
(A) =R et
(B) IR sfewg
(C) g4 e FhxmE
(D) TIET 9&R SE6T (@IEE

68. 7E AYITF QR forem Moeg g3 aeda
(4R T 2,800 DAl <<l | W a9 e
O, O G I IR R SFT 29

(A) 600 T '
(B) 800 it
(C) 500 5=t
D) 700 Tt
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69. How much water must be added to 8 litres
of a90% acid solution to make a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2 litres
(D) 1.6 litres

70, What is the week’s wages camed by a
person who gets ¥ 3,700 per week plus 2%
commission on the sale of goods in excess of
Z 1,00,000, if his sales total is ¥ 2,40,0007?

(A) 8,500
(B) ¥4,800
(©) 6,500
(D) ¥2,800

71. A petrol pump can hold enough petrol to
supply 80 cars with'35 litres each. Hence the
number of cars it can supply with 50 litres petrol
are

(A) 50
(B) 56
(©) 60
(D) 66

72. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 957

(A) 96
(B) 99
(C) 98
(D) 95

"73. A woman reduced her weight from 95 kg to
76 kg. Then the decrease per cent is

(A) 18%
(B) 9%
(C) 20%
(D) 10%

A-16

69. (5 8 BvIs 90% T AT 75%
S[IHE ARTE TA0S T 61 T @ FIHO A ?
(A) 1.5 o
' (B) 14 FBE
(C) 1.2 fw=
(D) 1.6 &6l

70. GFEH Jled AT T Fo 2, 1 fof
3,700 5130 9 2l AN 2N G2l 1,00,000 B
QP ooy RfEpa Tolw 2% whmiw 4, 3 Bl oo
2,40,000 Gigtg # & swaa e

(A) 8,500 B
(B) 4,800 Bzt
(C) 6,500 B
(D) 2,800 Bret

71. @B CHiTGIA A=A 80 6 siflres 35 feibra e
CoICRIET STEATE, T G AESAT (IR SR
SR (A Aol Toaf st 50 Fivia w3
CAGIE FCe SR, OfF 71 75

(A) 50
(B) 56
(C) 60
(D) 66

72, 37 6 oF SASHF AT T T 93| AT
AR AL T 7K (oIt ©IF AT 77 95 A ¢
(A) 96 '

(B) 99
(C) 98
(D) 95

73, GG SR O GG 95 (Fi%T (AT I
76 (37 AT | OIRCF MG GT I T
(A) 18%
B) 9%
(C) 20%
(D) 10%




74, Every morning Raj jogs to his work § km _

away at a constant speed of 12km/h. How much
; time is saved if he cycles one morning at a speed
) of 20km/h?
(A) 24 min
(B) 40 min
(©) 16 min
(D) 12 min

75. Fourwomen, A, B, Cand Dinvested money
in the ratio 1:4:7:8 in their business. Their
profits were distributed according to their

investment. If after one year C’s share of the profit

was ¥ 35,000, then the B’s share of the profit was
- (A) ¥5,000
(B) ¥20,000
(C) 25,000
(D) ¥30,000

76. Ramesh is 16 years older than Suresh.
20 years later Ramesh’s age will be four times the
present age of Suresh, The present age of Ramesh
is

(A) 12 years
(B) 28 years
(C) 36 years
(D) 32 years

77. Find the value of

1 69x67
68 68
A 1
(B) -1
(€) 0
(D) 68

69

(A) South Atlantic
(B) North Atlantic
(C) ‘West Pacific”
(D) East Pacific

[ 78. Mariana Trench is located in which ocean?

A-17 CMRI/22

74, 2ffSfim SR e 8 R i wier wmet
12 o5/t 3 sifre wiice (e a1 | o= et
ot 20 fof/9%t el iR i Coite i 3
I 61 2 : '

(A) 24 fifeB
(B) 40 ™%
(C) 16 fifG
(D) 126

75. A,B,C Y99t D, oA o= W& 1:4:7:8
AT Bt R T oimE @It s |
SR FICSE #AfI St S oI b RfweE
AT | I 9F TR 917 C-47 TS s 57
35,000 51901, ©F B-97 wiceq #ifFsid T3

(A) 5,000 Gi=t

(B) 20,000 G
(C) 25,000 Bt
(D) 30,000 Bt

76. O FRCTR (/0T 16 I9HF 09N, 20 979 917
SOOI FT AT O TR 4 S R | T
FEAT T =

(A) 12T
(B) 28 7=d
(C) 36 9=d
(D) 329=g

77. W= T wra—
1, 69x67
68 68
(A) 1
(B) -1
G0
®) 68 -

78. WA G (P WA SRE ?
(A) 7 wIfbafoe
(B) ©ex wiGenfoe
(C) ~Fow a¥irg

T (D) E i

69
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79.

80.

The Harappa Age is also called the
{A) Stone Age

(B) Iron Age

(C) Ice Age

(D) Bronze Age

The government established the University

Grants Commission by an Act of Parliament in the

year

81.

82.

(A) 1980
(B) 1948
(C) 1950
(D) 1956

What is the chemical symbol for Silver?
(A) Au
(B) Ag
(C) Cu
(D) Mg

What is the primary function of the human

kidneys?

83.

(A) Digestion .

(B) Filtration of blood and waste excretion
(C) Oxygen transport

(D) Reguiation of body temperature

Who was the founder of Pala Dynasty?
(A) Gopalal
-(B) Govindapala

- (C) Shurapala

(D) Divapala

A-18

79, TFH YT ____ oIS Tl 2|
(A) o1
(B) TR
©) ==
(D) &g

80, FDIF (T FNCE APTHA G0 SRR TG
oo el hn 29 TE e
(A) 1980
(B) 1948
(C) 1950
(D) 1956

81. w9 IPIT &St e
(A) Au
(B) Ag
(C) Cu
(D) Mg

82. Winrad el Al oo He
(A) T RS
" (B) T +ARGRY 43 T el
(C) =ie ez ,
(D) *<Iaa st Wz

83. #iiF FEETT afsvret @ fBgem e
(A) ST 53
(B) atifmsiiet
(C) 3=
(D) Tt




’9 a1
— F12=1|=7
84, 4( 116+122) ?

(A) 50
(®B) 45
(C) 55
(D) 30

- 85. 'Who propounded the motto “Go back to the
Vedas”?"

(A) Swami Dayanand Saraswati
(B) Bal Gangadhar Tilak
{C) Vishnu Shastri Bapat
{2} Narendra Nath Dutta

86. The sum of two numbers is 8 and their
product is 16. Then the value of the sum of the
reciprocals is

(A) 2
1
® 3

(O 1
D) 4

87. Which nutrient is a primary contributor to
eutrophicatioq? :
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
" (C) Magnesium & Sulphur
(D) Magnesium & Potassium

88. A can with 30 marbles weighed 120 gm.
The same can with 15 marbles weighed 95 gm.
What is the weight of the can?

(A) 25gm
(B) 50 gm
(C) 70 gm.
(D) 65gm

A-19
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/ 9 1
4 1= +12= =9
84. (116 122] ?

(A) 50
(B) 45
(C) 55

(D) 30

85. (F“EmFEare” Qb v srafEE
(A) T e Sl
(B) I aiixR foorw
(C) e =& a1l
D) TEEAL 7

86. Ti6 FHLUR @9NFE 8 G VAT 161 O
S 7 A @FNFER T 1
. (A) 2

® 5

© 1
(D) 4

87. (P TAMA TEEIFNema ANIfT
SRR 2 o
(A) RGIEA 92 TAFaH
(B) RN @R TFA
(C) TSN G AT
(D) STisApI G=R ABRE

88. 30 3 e Ee wzfb sticaw wom 120 2w
@R MA@z 15 5 e w1 e 95 i | ot e
CACRS

(A) 25 &
(B) 50 &
- (©) 704
(D) 65 &
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89. Petroglyphs means
(A) the chipping of rocks to make tools.
(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is
removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

90. Theaverage age of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(A) 1:2
(B) 2:1
C1:1
D) 5:1

91. The Buland Darwaza was built by Akbar to
- commemorate his victory of

(A) Gujarat

(B) Khandesh
(C) Ahmednagar
(D) Berar

92, What is the smallest unit of information?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

93. The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River

(B) Brahmani River
(C) Damodar River
(D) Shipra River

©A-20

89. Petroglyphs .
(A) =g B e 2fews ook
(B) (4G ey “NUas 2o |
(C) Tet-ojrda g sAme-camiz, 9=k
IR Mo Fen-Fis s |

‘ (D) (#3597 =T RAR s[oroet (G
AT 2GS |

90, CIVE WHEA TG IIA 281 35 IR G
TR I T W 50| T = e @ e
5% A 40 T, P Rl @ W MR T
=3

(A) 1:2
(B) 2:1
© 1:1
M) 5:1"

91. e MRSHE HFIR S (I 2GR T
it srafREm e

(A) S0
(B) it

(C) SimmAs
(D) @&A1"

92, ST THOH GFT 2
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

© 93, (TaceE! Foa 2eoa SR (N ARSI ?
(A) «rFLiE
(B) gt
(C) TIma At
(D) e mt




\ 94. Three year 8 classes had the same maths
test. One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had an
average of 61%. Then the average marks of all the
students in the three classes is

(A) 74%
(B) 74-05%
(C) 12342%
(D) '123%

95. Whichriver was the Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

* 96. The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir William Jones
(B) Warren Hastings
(C) Sir James Makintosh
(D) James Princep

97. Non-conformity to social norms is called
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

A-21
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94, -foal6 T 8- W32 sifireq &l Tl
GG 25 SR TR NS e Bet 80%, ST 46 22
S FIT AT T &F 75% 922 13 S 18 50
FICIF 1 WA et 61% 1 S oG SivE s wE@s

(A) 74%
(B) 74-05%
(C) 123-42%
D) 123%

95, Rewa=17 Aoy @F A9 g w1 B
(A) Tt
(B) oz
(C) IR
(D) et

96. 1784 A <FREIGE EIFTRG W @aa-ag
Ao —

(A) 01 B2ferans (o
(B) SR &P

(C) 019 (o I
(D) e et

97. Wit Ao A THfoaToR 7=

(A) IS sifgads

(B) Rgfe
(C) AN 75
(D) Aeaw
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98. Which phenomenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

99, India recently hosted the 13th BRICS
Summit in which city?
(A) New Delhi
(B) Mumbai
(C) Bengaluru
(D) Goa

100. Malpighian Tubules are found in
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

A-22

98, R STE AN ST bR e el
T YK (iR S0 Wifl (P oo

(A) Rass
(B) &fezd s afcwes
(C) Regzet
(D) Tfesa

99, SIS s (FIF = 1397 BRICS ICHEH
SN T 2
(A) FE
(B) TR
(C) R
(D) csim

100. Malpighian Tubules (FIT e T ?
(A) oLy
(B) AT
(C) =livwery
(D) oIty
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INSTRUCTIONS |

Candidates should read the following instructions carefully before answering the questions:

1.

This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet, g
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answer. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Who won Women’s Hockey 55 Asia Cup in"
20237

(A) Pakistan

. (B) Bangladesh
(C) India
(D) China

2. Dakshin Gangotri, India’s first scientific
base station is in—

(A) Himalayas
(B) Indian Ocean
{(C) Antarctica
(D) Kanyakumari

3. 4J20++/20++/25 = How much?
(A) 2
B) 3
© 5
D) 6

4. Who is the youngest mountaineer in the _

world and first from India to climb both Seven
Summits and Volcanic Seven Summits? ;

(A) Amulya Sen

(B) Bachendri Pal <

(C) Basanta Singh Roy
(D) Satyarup Siddhanta

5. Where d({es the Easternghat and
Westernghat (mountain range) meet?

(A) Nilgiri
(B) Annamalai
(C) Aravalli
(D) Satpura

1. 2023-q WfZArT 3 55 Asia Cup e
m._
(A) AfFe=
(B) eEiont
(C) ©e
D) B

2. W ST, SITo A% (IR (5] GO
_EFe—

&) fEem

(B) SiFe W=

(C) SIrBRH

(D) ‘Fpgat

37120 ++/20+25 = w?

(A) 2
B) 3
© 5
(D) 6

4. Rod SEed @3 Slares 2o Aoy -

R citew ARG ¢ st coen 7RG et
IACA—

(A) ST O

(B) Isa il

(C) 7% feg atg

(D) Fermst Braiw

5. ©lacs o ¢ «ffow WG (A<onea)
A TTAT—

(A) e
(B) waI=lg,
(C) SR
(D) =ressl

e e



6. The percentage measurement of water is
20% in 70 litres mixture of milk and water. How
much litres water should be added in the mixture,
so that the percentage measurement of water
becomes 30% in the mixture?

(A) 15 litres
(B) 10 litres
(C) 20 litres
(D) 25 litres

7. President of India is elected by—
(A) elected members of Lok Sabha,
RajyaSabhaandall the state Assembly
(B) elected members of Lok Sabha
(C) elected members of Rajya Sabha
(D) elected membersofall state Assembly

8. The ratio of income of two personsis 2: 3
and the ratio of expenditure is 5 : 9. If both of the
two persons can save rupees 600 at the end of a
month, then what is the monthly income of the first
person?

(A) Rs. 1,600
(B) Rs. 1,200
(C) Rs. 1,800
(D) Rs. 2,000

9. An empty tank is water-filled by A and B
pipesin 10 minutes, by B and C pipes in 12 minutes
and by A and C pipes in 15 minutes. In how much
time the three pipes together will fulfil the empty
tank with water?

(A) 8 minutes
(B) 6 minutes
©) 6«% minutes
(D) 5 minutes

A-3 DMRI/22

6. 70 T 11 ¢ wieE frid wem o
SAfFmd 20% | Freifbre wime @ HoR o emilte
A, Tive s ot *oal A 30% 292

(A) 15 f&6=
(B) 10 o=
(C) 2076
(D) 25 foo

7. ©iared AgHs Five Tn—
(A) oS!, AT ¢ A RYTeEE
o sy arat
(B) eTeia FHifes swwer
(€) TEpFed Fite 5w aEt
(D) 7e3 Rurretalm Fibe Fo7 7t

8. VoW GIeT NET SIS 2 : 3 G 4909
SRS 5 : 9 13 R & Mt eite 600 B e
Tl IE, S YN Jiea N wE o2

(A) 1,600 Bt
(B) 1,200 %1
(C) 1,800
(D) 2,000 Bt

9. 36 «ifF T A ¢ B w1 fw 10 5445, B @
C 7 fim 12 RfG 9k A e C 7@ i 15 FRG
Tl Tl IR | = oo @t 378 e Aiiet G
TrErlef TaCe A

(A) 8 [fRE
(B) 6 R

(%)) 6% il
(D) 5 R
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10. Universal blood doner group—
(A) Group A
(B) GroupB
(C) Group AB
(D) Group O

11. ‘Sarbodhinayaka’ or Head of Tamralipta
Jatiya Sarkar—-

(A) Suvshil Kumar Dhara

(B) Satish Chandra Samanta

(C) Ajoy Kumar Mukhopadhyay
(D) Amulya Charan Maity

12. What is the difference between compound
interest and simple interest of rupees 5,000 in
2 years at 8% annual rate of interest?

(A) 64
(B) 26
(©) 52
D) 32

13. A famous musician in the court of Akbar—
(A) Tansen
(B) Abdul Latif
(C) Tulsidas
(D) Abdus Samad

14. Who was awarded 2023 SASTRA
RAMANUJAN in Mathematics?

(A) Roger Penrose
(B) Katherine Johnson
(C) Ruixiang Zhang '
(D) John Conway

10. (X ST TF ALEGA ol 2
(A) Faq
(B) AR
(C) 2ot @y
(D) &9 e

11. Sifie e ST TR R
(A) 701 T «rol
(B) TOMIbE HANG
(C) TR TR LRt
(D) SETHRA WEfe

12. T 8% T W 5,000 BiFla 2 I==w
5 A 8 I THE W F97?
(A) 64
(B) 26
(C) 52
(D) 32

13. A qerTeld [Rae TRies—
(A) OFGH
(B) I aifow
(C) wrm
(D) WA At

14. f9t® 2023 SASTRA RAMANUJAN
SR (ATTA—
(A) TRF (RS
(B) Tafd &
(C) w3fEie A
(D) & IR



15. The productoftwo numbersis 1575 and the

quotient is %, what are the two numbers?

(A) 45,35
(B) 81,63
(©) 35,27
(D) 36,35

16. 1 (87—6) is divided by 88, the remainder
will be B

(A) 5

B) 1

(©) 81

(D) 87

17. Dyarchy was introduced in Bengal by—
(A) Robert Clive
(B) Warren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

18. Who was awarded SPINOZA prize 2023
for climate change work?

(A) Greta Thunberg
(B) Malala Yousafzai
(C) Joyeeta Gupta
(D) Rachel Carson

19. The product of three consecutive natural
numbers is 120. What is the sum of the three
numbers? :

(A) 9
(B) 15
() 12
(D) 14

DMRI1/22

15. 13 R G 1575 3R ST %,ﬂ@m
b J 2
(A) 45,35
(B) 81,63
©) 35,27
D) 36,35

16. (87'°—6)-F 88 QI S5 FAC IR IR
(A) 5
B) 1
(C) 81
(D) 87

17. AR TASHPIAR 2 FAw
(A) 3G FTS
(B) eqAH B
(C) 6 SREPE
(D) =16 G

18, 20234 TE ~RREER Boi AN
SPINOZA #[&id (AGTH—
(A) Cafo1 gaisl
(B) =TT BSwEiE,
(C) Tl wg
(D) e I

19. 7 «= ol e e gL e 120,
R fexior qrsiee To17
(A) 9
B) 15
(C) 12
D) 14
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25. What will be the compound interestof rupees 25, AR 5% AR 00T 22 @
900 in 2% years at 5% annual rate of interest? M TS g2 9
(A) 103-28 (A) 10328
(B) 110-20 (B) 11020
(©) 104-50 ' (C) 104-50
(D) 102-16 (D) 10216
26. Where in India different types of Corals are 26. TSN I Rfow gq0iw o] ot e
seen? (A) WA
(A) Sundarban (B) Gl
(B) Kerala ©) T &3
(C) Daman & Diu
(D) Lakshadweep (D) s
27, Who writes story of another person’s life— 27. S04 SEal G JfR—
(A) Historian (A) afeaFe
(B) Biographer (B) Pl
(C) Chronicler (©) TRFE
(D) Penman D) FPR=
28. World’s highest rainfall— 28. st (Rew) oo =m—
(A) Chinna Kallar (A) Bom sm
(B) Pune (8) %
(C) Pasighat ©) =il
(D) Mausynram D) GTFF
29. 1,8,9, 64,25,216,7 29. 1,8, 9, 64,25,216,?
(A) 49 ' (A) 49
(B) 256 (B) 256
©) 128 " (C) 128
(D) 343 (D) 343
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30. A cricketer had a certain average of runs
up to his 64 innings. But the average runs of the
innings gets down by 2 runs on becoming out at
zero in the 65th innings. Then what is his present
average of runs?

(A) 130
B) 128
©) 64
D) 120

31. Last Governor General of India—
(A) Lord Canning
(B) Lord Ellenborough
(C) Chakravorty Rajagopalachari
(D) J.B. Kripalani

32, What is the sum of the first 100 odd natural
numbers? .

(A) 10000
(B) 10650
(C) 15050
(D) None of the above

33. Crocodile Tears meaning—
(A) Tears from animals
(B) Painful expression
(C) False tear
(D) None of the above

34. Brass is made of following metals:
(A) Iron-Copper
(B) Copper-Tin
(C) Copper-Aluminium
(D) Copper-Zinc

30. 93 TFROIER 64 [ 4fy g WS
A o1g Tt | [ 657 e 0 A wios
2O ST G T 2 0 T | SITE S I
4G i T ?

(A) 130
(B) 128
" (C) 64
(D) 120

31. ©I0SE (IR NS (EHIEE—
(A) =6 g
(B) <TG «rei=<al
(C) SeFaS| SrRTHARTIBIR
(D) . R Foirmal

32. a9w 100f #reif{s R Aeie 7w o ¢
(A) 10000
(B) 10650
(C) 15050

(D) Bt IR T

33. g e 9d—
(A) ofitra 3
(B) <33 S
(C) I ST .
(D) o @IIbE 7

34. e & e aigaea A ¢
(A) -t
(B) wr=i-fodt
(C) wIm-pEfafa

(D) ort-wt




35. What digit is to be put in the “** marked
place to get the number 5432*7 divisible by 97

(a) 0
@) 1
© 6
D) 9

36. How many times will be some principal in
principal & interest in 10 years at 10% annual rate
of simple interest?

1.
(A) 15 times
(B) 2 times

1 ..
(O 2:—2- times
(D) 3 times

37. A train crosses a lamp-post in 10 seconds

and crosses a 50 metres long platform in 14 seconds.

Then what will be the speed of the train in an hour?
(A) 60 km/hour
(B) 45 km/hour
(C) 30 km/hour
(D) 40 knav/hour

38. Who was awared the first Noble Prize in
India?

(A) Mother Teresa

(B) C.V.Raman

{C) Rabindranath Tagore
(D) Amartya Sen

39, If 26th day of March of 2019 is Tuesday,
what day will be 26th day of March of 20227

(A) Saturday
(B) Sunday
(C) Thursday
(D) Wednesday

A9
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35, " FI (I STE A 543247 =416 9wl
feete 7@
.(A) 0
B) 1
(C) 6
D) 9

36. QIR 109 29 AL AW I S 10 =T
AW Foa I ?

1
(A) 15 a9
' (B) 2 a9
L
(C) 25 a4
(D) 3 a4

37. T G G T-CAPHE 10 FIFS IR
50 fSiora tedia ibete 14 TS Sfews T |
WiEgE GAioq 95 T [ sifowe 2@

(A) 60 fRi/a5t
(B) 45 ff/ao
(C) 30 /=%l
(D) 40 f&fi/a6t

38, ORI (@ U RS ZTHI A2
(A) stz Gl
(B) F.fe. armw
(C) IqEAY ORFF
(D) ST} G

39. 2019 W 2604 A THERE ==, 2022
T 2604 T T AT I

(A) ===
@B) afer™
(C) Tt

(D) $HI=
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40.

A 70 metres long train in a speed of

75 km/hour will cross a 105 metres long bridge in

time.

41.

(A) 2% seconds
(B) 8% seconds
© 9% seconds

(D) 18% seconds

International Women’s Day—
(A) February 8

(B) March 8

(C) April 8

(1) December 8

42. Which country has decided to ban mobiles,
tablets and smart watches from classrooms in

20247

(A) China

- (B) India

(C) Netherlands
(D) Japan LN

43. Which Five Year Plan (India) focused on
the development of heavy industry?

(A) First Five Year Plan
(B) Second Five Year Plan
(C) Third Five Year Plan
(D) Fifth Five Year Plan

A-10

40. 43 70%%@#6% 75 Rl @t

105 f5i51g 151 96 e <417 20s v )

(A) 2% TS
2
5

©) 9% T

(B) 8% (T

(D) 13% TS

41. SwEifes w1 fFe—
(A) 8 Tz
(B) 8 =
(C) 8 iz
(D) 8 fCrrea

42, mmm(mﬁw)dmﬁﬁwm,m

@ 15 ents [fFs F90z 2024 (AT
A) 3=
(B) ©iH®
- (C) ITETIeH
(D) =R

43, SIFe @ R Al ek FeE

Rt oy orem gfee ¢
(A) 2 A=RIHR A
(B) faoia i i
(C) v AR fdwman
(D) =i oA s
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44. A,Band Cstart ajoint business. At the end
of the year, A gets %portion of dividend, B gets
% portion of dividend and C gets rupees 4,900,
‘What was the total profit in the business?

(A) Rs. 12,000
{B) Rs. 14,000
(C) Rs. 15,000
(D) Rs. 10,000

45. A train goes 10 km distance in 12 minutes.
If the speed of the train decreases 10 km/hour, then
how much time will be needed for the train to go
that distance?

(A) 20 minutes
(B) 10 minutes ' i
(C) 15 minutes
(D) 25 minutes

Sl

46. The costprice of an article is rupees 620 and
itis 25% less than the marked price. If the article is
sold at 15% discount, then the percentage of profit
will be

®) 13%—%

© 13%%
2
5

D) 122%

47.
P = How much?

(A) 190
(B) 225
(C) 255
(D) 536

DMRI/22

44 A, Becqﬁcﬁrwwwm|wm
Aa@w w,wmw ! st om ez C
4900mma|wcwfﬁwmmfw

(A) 12,000 Bret
(B) 14,000 iz
(C) 15,000 Gt
(D) 10,000 51

45. <@ @1 10 ¥ e @ 12 FRE | T
@Gafba sferast 10 [of/a5! S AT, o7 98 7Y
@Te BT T A AL ?

(A) 20 TG
(B) 10 7R
(C) 155
(D) 25 i G

46. 3B HRL LT 620 51 4R 51 4R
AT 25% 9 150 W 15% 2w RensarEd, ok
*Io5al S I

(A) 14%%
®) 1329

%

5
-1
© 135
2
5

(D) 122%

i (A) 190
L (B) 225
(C) 255

(D) 536
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48. First battle of Tarain was fought between—
(A) SultanMahmudand Prithviraj Chauhan

" (B) Muhammad Ghori and Prithviraj
Chauhan

(C) Babur and Ibrahim Lodi
(D)} Akbar and Himu

49. 12 people can finish a work in 4 days. How
many people will be needed to do 8 times of this
work in half of the time?

(A) 112 people
(B) 150 people
(C) 160 people
(D) 192 people

50. Name of the book written by Kautilya—
(A) Indica
(B) Suryasiddhanta
(C) Arthasashtra
(D) Mudrarakshasa

51. Thesmallestnumberamong 3% 9% Sé gé‘

is
(A) 3%
(B) 9é
© ¥
D) 9é

52. The product of two consecutive numbers is
1980, what is the smallest number?

(A) 33
(B) 44
C) 35
(D) 55

A-12

48. ST 24T 7 TAfeEi—
(A) T WY 3R SfYAIE (BrRwg Wy
(B) =AW I @R AfAra G W
(C) IR R =M @R Ty
(D) =T 3R B WG

49, 950 FG 12 T @11 4 Tt (19 TA0S AR |
97 8 @9 T AHST HAH TS (9405 IO EF
SN ?

(A) 1128
© (B) 150%A
(C) 160w
(D) 192%H

50. Fifoey Bl agfeq wv—
(A) 3=

(B) b
(C) =g,
(D) WA

51. 3§, 95*, 3%’ o~ TCG FHSH ! TH—
(A) 3
B} 9
©
®) 9

e DD =

L

|-

52. %~ 46 YR 347 1980 T, oo

TR Fo ¢

(A) 33
(B) 44
(©) 35
D) 55




§3. Which is the highest number of six digits
dividedby7, 12,5 and 15 remaining the remainders
5, 10, 3 and 13 respectively?

(A) 999608
(B) 999598
(C) 995600
(D) 999500

54. Only metal that is liquid at normal
temperature—

(A) Gold
(B) Zinc
(C) Copper
(D) Mercury

55. How many Gold Medals won by India in
Asian Games, 2023? :

(A) 27
(B) 28
() 29

D) 30

56. Chief Justice of Kolkata High Court—
(A) Justice Sﬁrya Kant
(B). Justice D.Y. Chandrachud
(C) Justice T.M. Sivagnanam
(D) None of them J

57. Which country won Women’s Emerging
Asia Cup in 2023?

(A) Pakistan
(B) India

" (C) SriLanka
(D) China

A-13
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53, TCET (I ITeN WPNF 7, 12,58 159
© wlo TaE AN 5, 10, 3 '8 13 S0 AHE?
(A) 999608
(B) 999598
(C) 999600
(D) 999500

54. <A (I A FSIRT SN S TP
YET—

(A) Gl
(B) =

(©) o
(D)

55, 2023 GRHIN (SFFT-9 SRS AL T
FRY—
(A) 27
(B) 28
(©) 29
D) 30

56. TSl PRI 24 Rorefo—
(A) =i e
B) w5 fE. xR, vape
(©) =6 B.«w. Miaeiaa
- (D) B4R (08

57. 2023-9 (¥ ¢l Women’s Emerging Asia
Cup f&rorz?

(A) AR
(B) =9
(©) A=zt
(D) B=
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58. If rupees 42 is the difference of interest of
some amount of principal between 3 and 4 years at
5% annual rate of simple interest, what is the
amount of principal?

(A) Rs. 800
(B) Rs. 840
(C) Rs. 900
D) Rs. 620

59. Mahaparinirvana means—

' (A) Enlightenment
(B) Dharmachakraproborton
(C) Leaving family
(D) Death of Lord Buddha

60. Forest conservation can arrest—‘
(A) soil erosion
(B) pollution
(C) flood
. (D) All of the above

A
i

61. Who renamed Calcutta as Alinagar?
(A) Alivardi Khan
(B) Murshid Quli Khan
(C) Sirajuddaulah
(D) Mir Qasim

62. Human skin tone is governed by the
pigment— b

(A) Melanin

(B) Silicon

(C) Insulin

(D) None of the above

A-14

58. qif¥% 5% 41 AR QG Ry et e
3 T2 8 4 IR [ A1 42 B! g, A
At For .

(A) 800 Bt
(B) 840 B!
(C) 900w
(D) 6205t

59. weifafia e
(A) @fE =S
(B) wicgeey
(C) % opat
(D) &t Ty

60. I SRIFEF NG ARy WH—
(A) gfrey
(B) A "
(C) < '
(D) BoEg FIFHoR

61. e A wifFwaT @ifReem
(A) SifE=A AW
(B) It <m
(C) Frarechmm
(D) T

62. MYEA AR (NG ST m @ Betmimz

BeE—

(A) Cwiifas
B) Fifer=
(C) T o™
(D) TR @IIbE 7
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63. The average of 20 numbers is 12. If the
average of the first 12 numbers is 11 and the
average of the next 7 numbers is 10, the last number
will be

(A) 38
(B) 36
©) 26
(D) 28

64. Which state is the largest producer of
sugarcane in India?

(A) Uttar Pradesh
(B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

65. India’s first Remote Sensing Satellite—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. Which city of West Bengal is known as
gateway to N. E. India?

(A) Jalpaiguri
(B) Alipurduar
(C) Siliguri
(D) Coochbehar

|

+— L

1 -
67. —+ 511 ....+23.25—

5.7
much?

(A)

How

|

9

(B)
©)

1= Rl s B

63. 201 >eata 51w 12 | =2 1216 5igi 516 11
932 S[tFd 710 RN 5% 10 2, (R WU W
(A) 38
(B) 36
(C) 26
(D) 28

64. SIS (T AT AT SANH T & 2
(A) SeazTe

(B) =G
(C) “Fosam

(D) wifiEg

65. SlAtex 24 Bl oFPR GRS (|
SRR Boteig)—
(A) P6
(B) P4
(C) IRS 1A
(D) CARTOSAT

66. ARSTHA P T TeR-s{ wiAred
e L E i | T

(A) TEARe%
(B) wfer=ara
(C) Fiferef®
(D) @I5REE

1

1 _
—_—t ....+m—

1
67. 57*79% o
1

+ TIY

OF=

2
3
(B) 25
2
2
i
5

Lh

©) 5=

Lh

@
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68. Leader of Munda uprising—
(A) Joa Bhagat
(B) Sidhu
(C) Birsa
(D) Kanhu

69. 4 years ago, the ratio of ages of father and
son was 9 : 2. The present age of the father is
40 years. What will be the present age of the son?

(A) 12 years
(B) 15 years
(C) 18 years
(D) 10 years

70, Metropolitan Institution was founded by—
{A) Ram Mohan Roy
(B) Iswar Chandra Vidyasagar
(C) Alexander Duff
(D) Nabagopal Mitra

71. A and B together can finish a work in
10 days, B and C together can finish that work in
12 days and C and A together can finish the work
in 15 days. Then in how many days C alone will be
able to do the work?

(A) 10 days
(B) 20 days’
(C) 30days
(D) 40 days

72. Find out the value:

71t 12 s 3 L md

5 5 5 5
(A) 3110

(B) 3018
(C) 3000
(D) 3108

A-16

68. Tl fRealag Ay Am—

(A) (Sl o5
B) Fy

(C) [

D) T

69. 4 I=F S 4%l @ < FWEF TATS
f2e19:2 | Pror 36w 140 I 0, 7{Ea 6

T TS B P
(A) 12923
(B) 1537
(C) 18 3=d
(D) 109q=3

70. GGG ZAF6HS (& Bivia S

(A) a=GIEs 9"
(B) S RwgiflsE
(C) QIFTEE CfF
(D) =_Tsiielte fig

71. A8 B «513 ¢« & 10 e, B8 C 9o
X1 12 7t 43 C'8 A 93 it 15 fies o1
TS AEF | OA C 99| 63 e o fm wa0s

A
(A) 10
(B) 20 =
(©) 30T
D) 40 F=

72. I a4 ¢

1 2 3
77'7’5 + 777; + 7775
(A) 3110
(B) 3018
(©) 3000

(D) 3108




73. The population of a village is 67,600. If 4%

of population increases every year in the village,

then what was the population of the village 2 years
ago? )

(A) 64,500 . .

(B) 62,400

(C) 62,500

(D) 65,100

74. In what proportion pure milk is mixed with
water to-sell the mixed milk at its cost price having
25% profit? :

A) 4:1
B) 3:2
(C) 3:1
D) 5:4

75. Theratiooflengths of twotrainsis5:4. The
ratio of times to cross a postis 4 : 3. Then what will
be the ratio of speeds of the two trains?

A) 15:16
®) 5:3
(€) 6:5
D) 5:4

76. What is the unit digit of (593)% x (124)%?
(A) 8
B) 6
© 4
D) 2

77. McMahon line as international Boundary
between which two countries?

(A) India-Pakistan

(B) India-Bangiadesh

{©) India—China

(D) India—Burma (Myanmar)

A-17 _ DMRI1/22

73, 3B A TS GIFALY 67,600 T | T

' it 2 3T 4% I EITE I AN, SR 2 e

TS} €% ST ETTR I faw e
(A) 64,500
(B) 62,400
(C) 62,500
(D) 65,100

74, <ifB e ML T S wsiice e =
e vy FET R w961 25% e 29 ?

(A) 4:1
'B) 3:2
(C) 3:1
@) 5:4

—
'

75. % G T ST 5 : 41 @3B B
ST FAIF AES S 4 ;3 | OgE G 7od
N ICICIREASE ISR RIS K

(A) 15: 16
(B) 5:3
(€) 6:5
D) 5:4

76. (593)% x (124)%-9F GF(FE TF FG?
(A) 8 '
B) 6
C) 4
D) 2

77, T AR G 5 Gre S R
a2 '

(A) SRS—AfEI
(B) RGN
(C) SRS-BH
- (D) SIFe-If ()
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78. If the g.c.d. and the 1.c.m” of two numbers
are respectively 8 and 160, then the sum of the two
numbers will be

(A) 80
(B) 62
(C) 74
D) 72

79. The total equivalent discounts of 10%, 2(5%
and 30% serially on an article js

(A) 71.2%
B) 62%

(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British‘rule in India’ was
written by—

(A) Ramesh Chandra Dutt
(B) M. G. Ranade )
(C) Dadabhai Naoroji

(D) Amartya Sen

81. Hiroshima Day is observed every year on
(A) 4th August ’
(B) Sth August
(C) 6th August
(D) 12th August

* 82. For agricultural and rural development,
Apex Bank is—

(A) Reserve Bank of India.
(B) State Bank of India
(C) NABARD

(D) Bank of India

o
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78. Wb AATF ALAG. @ F.@. P 88 160
0, TR 6T GoNTE I
(A) 80
(B) 62
(©) 74
(D) 72

79. 90 BT ©AT 4T 21T 10%, 20% €8 30%
RIUST FgE] RIG T
(A) 71.2%
(B) 62%
(C) 60.4%
(D) 49.6%

80. ‘Poverty & Un-British rule in India’-%.
Cﬁ?ﬁi———
(A) ICMEH a
(B) @u. f&. Feiire
(C) wmreig (gt
D) TG @

81. dfeTey ‘Rraibm ot Ao =
(A) 43t =5P%
(B) 5% W%
(C) 6T IFS
(D) 123 %%

82. q\sﬁ G2 &It TR AT M TT—
(A) s @ w< 3w |
(B) @05 % v 2w
(C©) e
(D) RIS
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83. If the price of sugar increases by 20% and
10% respectively, what will be the percentage
increase on the total?

(A) 20%
(B) 32%
(C) 40%
(D) 30%

84. Buying 5 eggs atrupees 10, sells 10 eggs at
rupees 5, then what is the rate of loss?

(A) 75%
(B) 50%
©) 80%
(D) 100%

85. Who assumed the title ‘Chhatrapati’?
(A) Shivaji
(B) Baji Rao
(C) Dadaji Kondadev
(D) Shambhuji

86. Which state was previously known as
NEFA?

(A) Nagaland
(B) Manipur
(C) Mizoram
(D) Arunachal Pradesh

87. Who invented computer?
(A) Otto Hahn
(B) Niels Bohr
(C) Howard Eitkin
(D) Charles Babbage

DMRI1/22

83. BFRIWR o7 19 20% 8 10% Jfa (510 =R
Boig *fesal T Jha it ?

(A) 20%
(B) 32%
(C) 40%
D) 30%

84. 105ty 5% & &Fx <3 5 5w 10 fow
Ry 3, wog ga Fo 0

(A) 75%
(B) 50%
(C) 80%
(D) 100%

85. warife’ sfvyl MrafkEs
(A) =&t
(B) Ir&ANe
(C) WG (IO
(D) *rST&

86. ﬁmﬁﬂémﬁamm M witst NEFA
A ~ifave e

(A) ST

(B) ==

(C) Tirenaw

(D) SFHive 2

87. 0o wfiwid I —
(A) =1
(B) -FM @R
(C) A GHRA
(D) v IES
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88. What is the value of

0835x0835x0835+0165x0165% 0165 ,
0835x0:835—0835% 0165+ 0-165x 0165 *
(A) 067

B 1

(C) 0138

D) 2

89. What is the average of the cubes of
consecutive even natural numbers from 1 to 257
(A) 5200
(]3) 4240

(C) 4056
(D) 4628

2

90. If 4+ =0, whatis the value of x*?7

1+

1

X+3
(A) -1
@) 4
1
(D) 16

91. A tank filled with water is made empty by
two pipes in 6 hours and 10 hours respectively.
‘What portion of the tank will be remained water-
filled after 2 hours on opening the two pipes
together?

8 ,
(A) 15 portion

7 ,
(B) 15 portion
(C) %portion

D) % portion

A-20

0-835x 0:835% 0-835 + 0-165x 0165 x 0-165
88. 0835x0835—0835x0165+0165x0165
-9 T F5?
(A) 0-67
B) 1
(C) 0138
D) 2

89. 1 (AT 25 #1¥T o7 o7 (WIS FoiEs 5P
A A To ?
(A) 5200
(B) 4240
(C) 4056
(D) 4628

90. 4+ =0T, x99 T FS¢

91. b weT7jef Oy1% o e e T 6 518
10 9501 A1 =i T | AefS IR Y orewid
2 9B #I79 BIEBY e Wt TEel et 2

8
(A) 75
7
B) 13 Wt
© %wt

(D) % B!

B R T
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92. A dwelling in which soldiers live—
(A) Camps
(B) Barracks
(C) Tents
(D) Fort

93, 10 carpenters can make 6 almirahs in
7 days. Then how many days will take 21 carpenters
to make 18 almirahs?

(A) 10 days
(B) 12 days
(C) 16 days
(D) 15 days

94. Average of three numbers is 77. The first
number is twice of the second number and the
second number is twice of the third number. Then
what is the first number?

(A) 132

(B) 144
© 120
(D) 160

26.24,. .14
T K

1
@ 3
(B) 2

21
© 5
® 3

95. If , then K = How much?

96. Who introduced Kabuliyat and Patta?
* (A) Sher Afgan Khan
(B) Sher Shah
(C) Akbar
(D) Malik Ambar

92. GiiHAE—

L (A) T
(B) IHi®
(C) &% ($1))
(D)

93, 109 Feed R 7 W 67 wmmE amics
A | Siege 21 & i Tife oo M 187 wiemif
IS A e )

(A) 10T
(B) 12 =
©) 16T
D) 157=

94, ToxfsFLYT 51T 77 | 21 BT ALy
Red ¥ Hom Ol o MUF fRwdt | Sz
2T 7LD TS 2

(A) 132
(B) 144
(C) 120
(D) 160

96. TYeTET @ A oAl FrIF—
(A) CoF AR AT
(B) ca=R
() WIFIR
(D) iR g
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97. Evaluate the smallest number which is
completely divisible by 18, 30, 21 and'12 if it is
made thrice.

(A) 420
(B) 360
(C) 520
(D) 660

98. If Ais10%lessof B andBis 10% more than
900, then what is the value of A?

(A) 660
(B) 800
(C) 891
(D) None of the above

99. In an election, a candidate getting 60% of
votes defeats the opponent candidate by 298 votes.
Then total how many votes were polled in that
election?

(A) 1600
(B) 1490
(C) 1460
(D) 1540

100. Loktak lake is situated in
(A) Nagaland
(B) Arunachal Pradesh
(C) Manipur
(D) -Sikkim

A-22

97. Faow WYIH M 7 T foTad v
18, 30, 21 '8 12 =171 P=jefzcet Reerey =1
(A) 420
(B) 360
(C) 520
(D) 660

98. I A, B~4% 10% $% 28 992 B, 9500~99 (5T
10% (@M% 27, @ AT N T 7

(A) 660
(B) 800
(C) 891
(D) TR @Iy T

99, 36 o, 9o 2T 60% (o (it eifowat

" ST 298 (ST “iifere e 1oiRtE €8 Fdism i

9 (S5 oo ¢
(A) 1600
(B) 1490
(C) 1460
(D) 1540

100. BT G T1FS
(A) FISMeTCS
(B) S&iIba ST
(C) wi=fea
(D) fifea
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears 1o be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking for wrong answers. 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

" The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall, You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which one of the following is not a
greenhouse gas?

(A) CO,
(B) CH,
© o,

(D) CECs

2. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enguirer

3. Thebrain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

4. Who is the present Chief Justice in the
Supreme Court of India?

(A) Ranjan Gogoi
(B) N.V.Ramana

(C) Dhananjaya Yeshwant Chandrachud
(D) None of them

5. Which Mughal Emperor took the title of
‘Alamgir’?

(A) Akbar

(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan

1. -6 sttt e ey oD B=iSeT sy ¢
(A) CO,
(B) CH,
() O,
(D) CFCs

rae
i

2. FefeRe Aersfm wg ae amors o
FIF AR S =
(A) W AR i
®) % BB ‘ i)
(C) ==t '
(D) W GTFII"

3. 9 =T AT e =
(A) fowq
(B) Tiwas fmeet gy
(C) ez SIFTICE e a1
(D) oA A e 4

4. SIFUST A (FHE 6N i FoEells
@? .

(A) &= sitst

(B) «. &, Qe

(C) Ew TN Teap
(D) 0 o FeR 7w

S. (P I A el SR ez
FARE ?

(A) A
(B) =i
(C) SremmER
(D) Itz EriRi




-\ 6. The time at which a sum of Rs. 1,600
becomes 1,852.20 at an annual rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
(D) 12 months

7. Five years ago, the father’s age was 8 times
that of his son’s age. Five years hence, the sum of
their ages will be 65 years. Father’s present age is

(A) 50 years
(B) 40 years
(C) 45 years
(D) None of the above

8. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and
denominator are increased by 3, the new fraction

4
becomes 5 The original fraction is v

13
17
12
17
11
17
14
17

(A)
(B)
©
(D)
9, The circumferences of the front and rear

wheel of a rail engine are respectively 140 cm and
350 cm. The least distance to be covered by the

engine so that both the wheels complete their full

rotation simultaneously is
(A) 1400 cm
(B) 700 cm
(C) 1050 cm
(D) 980 cm

EMRI/22-

6. Tt Swe o RS 20 ek A
1,600 et g STaca J-ACA 1,852.20 Biw |
TGS AR &=
(A) 339
(B) 6
(C) 93
(D) 12

7. 5 <ag o PIeTa T3 +{pa e 8 o e |
Q47 (40 5 q2F 7 el e s G T T
65 923 | (Preta ISR T[T T

. (A) 5039

(B) 407=d

(C) 453=F

(D) AT @b T

8. <l SRR 20 1A (U 4 @R I e
4
@ T 3 (A G T O TgA sAieG =@ 3!
eige o oA == '

13
17
12
17
11
17
14
17

(A)
(B)
©)

" (D).

9. < @ A AT GR (A v
SAfaf qale 140 G @k 350 @i et @

Wi@@cﬁﬁwiﬁaawmﬁwﬁmﬂ

(A) 1400 &S
(B) 700 Gif%
(C) 1050 ¥
(D) 980 Gif¥l
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10. In ancient India Gandhara art flourished
during the reign of
(A) Ashoka
(B) Kanishka
(C) Harsha Vardhana
(D) Dharmapala

11. The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

12. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(C) Orange
(D) Ant sting

13. Which among the following statements is
incorrect about Gandhiji?
(A) He supported separate electorates.
(B) He led Dandi March,
(C) Hestarted Non-Cooperationmovement.
(D) Heattended Round Table Conference.

14. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of the rest of the
students is 51 kg. Total number of students is

(A) 54
(B) 52
(C) 48
(D) 45

A4

10. WWWWW@WN
A e, S om
(A) ST
(B) 3%
(C) T
(D) @i

11. % & T OF 43 (- AOH
TaiRe e | 20 T57 #f% ofF 9 T (=HA-TRTR
INCTE T 5 | €8 [ 3397 == :

(A) 359=g :
(B) 45 qmx
(C) 403=s
(D) 50 <=y

12. Rt s Qi
(A) B9 7H
B) coge=
(C) IS
(D) foleltea

13. ﬁmﬁqﬁwﬁammﬁmw

- SISy T e

(A) %ﬁvjﬁ(ﬂ@m%@as)ﬁmwwﬁm
R e e |

(B) o wife wfsaima oy Fafkem

(C) o wPREaMe wiTwEGE asirs
AR |

(D) o cotiewdo Rt tadrss ctsiwin e |

14. BRI RIER 48 G 55 ¥ | Sitra e
20 TR 4% 8T 60 (R 93 IR DA 51w wem
51 (3% | Sz GG B et

(A) 54
(B) 52
(C) 48
(D) 45



53 15- The ratio of two liquids A and B in a
mixture is 2 ; 3 and that in another mixtureis 5 : 4.
To get the equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7 :

(B) 4:9

(C) 6:11

(D) 5:9

E]- st 3

g 16. The numberof biggest squared-shaped stone
required to cover a rectangular area of sides 45 m
and 33 mis :

(A) 175
(B) 165
(C).155
(D) 145

17. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas is equal
to the cost price of 6 bananas, then his profit orloss
percentage is : '

(A) 20%
(B) 25%
(C) 15%
(D) 30%

18. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
4 : 5 : 6. Then ratio of the numbers of the coins is

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

19. Who took the title of ‘Vikramaditya'?
(A) Chandragupta I
(B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta
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. 15.. 45 et A 3R B S0 AT T T
2:3 932 5 : 4176 e @ TrAte GHltT A€ B
CAER SIS A 2 G160 2

(A) 3:7

(B) 4:9

(€) 6:11

D) 5:9°

16. G SITSPE cRGaa g @ ey A 45 For
@ 33 fiota T, ST T© U JToN I A
T €3 WTOIHF CFACE BLS (Fl W O

(A) 175
(B) 165
() 155
(D) 145

17. 9% TORErS [ RYFFATIIEIAR

v 67 T o i w51 F fern )

o Fe/Feg sAfad I e
(A) 20>l
(B) 25 %o
(C) 15 et
(D) 30*ei

18. «3f Afice &g e 1 B, 50+,
25 <17 g S0 | A Sl AT S ATS 4:5:6 T
O OIHE SR AT

C(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

19, Repaifirey” Tt & 9= FARE ?
(A). & voed
(B) SH vmod
(C) tHeg Gy
(D) Y
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20. The sum of two numbers is 150 and their
H.CF.is 15. The numbers are ’

(A) 60,90
(B) 30, 120
(©) 75,75
(D) 45, 105

21. Who wrote ‘The End of History'?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E. H. Carr

1
22. Amancoversadistance of 24 kmin 3 -2— hrs

partly on foot at a speed of 4.5 kin/hr and partly on
bicycle at a speed of 10 km/hr. Then the man
covers the distance on foot is

(A) 10km

(B) 9km

(C) 11 km

(D) 12km

23. Inafloodrelief camp there was a provision
of food for 1000 people for 100 days, after 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days
(C) 200 days
(D) 160 days

24. Aparnahasenoughmoneyto buy 36oranges
atarate of Rs. 4.50 per orange. Number of oran ges
she buys when the rate per orange is increased by
90 paise is

(A) 30
(B) 27
(C) 33

(D) 36

A-6

20, 7B ARYLT AT 150 W SIoer o131, 2]
15 1 5R251 5f5 == '
(A) 60,90

(B) 30, 120

(C) 75,75

(D) 45, 105

21. W 9% o %’ (The End of History) (&
o PR,
(A) e gt
B) Tim Fpeam
(C) M7 Tare
(D) 2. ¢@3p. 7

22. waﬁ@zﬁ%ﬁms% 951y Tgpt “Aea
GG 4.5 RS g3 a0 domeE oo
10 /=B oifers wfba 7w | 63 T 7w 7y
T Z05 T2

(A) 10 ™R
(B) 9 3f
(C) 11 =%
(D) 12 B

23. @3 Sptar PR 1000 w7 TFES 100
T 4 el 25 @ =1 250 & o1 SFpg 5
T | i e SRS I vera

(A) 100 =
(B) 90 =
(C) 200w
(D) 160 fw

24. Tsifig T 4.50 Bt W 360 FIAIET
(RIS TP et | 3ff 26T it win 90 st
(0T T I (1 Foaf FEe e

(A) 30 ‘
(B) 27

(C) 33

(D) 36
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25. A policeman starts to chase a thief, When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is
(A) 12:
(B) 11:
(C) 12:
(D) 12:

11

th ~1 =

26. In which year National Human Rights
Commission of India was established?
(A) 1990
(B) 1993
(C) 1947
(D) 2000

27. Who among the following won Ramon
Magsaysay Award?
(A) Ashapurna Devi
(B) Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

98. Sardar Sarovar Dam is built in the river
(A) Mahanadi
(B) Narmada
(C) Chambal
(D) Chenab

29. Ratio of three positive numbers is2:3:5,
sum of whose square is 950. Then the numbers are
(A) 2,3,5
B) 8,12,20
(C) 10, 15,25
(D) 12, 18,30
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25, e et 93 GIRET SIS ¥F TR
S (5T 5 vt T SR R A 6 il S
0 | S{fF 00 3 419} (BITRE 6 AILoTg Il | SRe
GaA A SERICER TGRS

(A) 12:11

B) 11:7

©) 12:7

(D) 12:5

26. SIA0S SO AR FhxE To BT
afefre gafeeit
(A) 1990
(B) 1993
(C) 1947
(D) 2000

27. @ TG (ACT (T AE IPAIRAL o
IS FATREAT? -
A o o
(B) ©fFe! wfal
©) TPeEe! (AL
(D) T =]

28, FAE IR Sy @ wHE Tord [, ¢if &=
(A) T
(B)
(C) vFa
D) ®I=R

20, fors 4T ALY WS 2:3:5 AR
oI TR ISR 950 | et AW foalt &
(A) 2,3,5
(B) 8,12,20
(C) 10, 15,25
(D) 12, 18,30
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30. Who among. the following published ‘The - 30. F @A o AR 2 ]
Kesari"? : (A) = -
(A) Mahatina Gandhi o (B) s e
(B) Bhagat Singh - - Wm;q 15
(C) Balgangadhar Tilak © A fomre
(D) B.R. Ambedkar (D) f2. ==, icawes il
i
31. A number of two digits exceeds four times 31, oo @W ALY ol wFeiFa QswEE
the sum of its digits by 6. It is increased by 9 on 499 (AT 6 @ﬁlqﬁwm qﬁq—ﬁmw
| reversing the digits. The numberis - . g 1 RS 9 3 A | e =
(A) 45 ;o (A) 45
(B) 43 : (B) 43 ‘
©) 34 C© 4 |
(D) 54 D) 54 ' 1
J
32. A3-digitnumberis subtracted by anumber 32. @b (o1 SCas FRYI (A ST G 7Ly ‘\
obtained by reversing the digits of the original @ T e el Refis o ik “rsqt |
number. Then the difference is divisible by 17 o st w1 TR TR “haTt (ol ©f (B |
(A) 91 Y1 7 ey e N
(B) 98 (A) 91
‘ ©9 ®) 98
; D) 101 : . © 99
| (D) 101
| |
‘ |
1
L ) i
; 33. Salim Ali is a famous 33, A e g e Rere ‘
| (A) Entomologist : (A) “e=fan
(B) Ornithologist (B) “=ifm J
. ; ) 1
(C) Virologist . . B
(D) Archaeologist ' © iz 1
(D) egogRm
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34. Mr. Bose’s monthly income is Rs. 16,000.
' 1
He spends 7 of his income on food. Out of the

. 5
remaining, he spends e on house rent and 2 on

the education of his children. Money he saves per
month is

(A) Rs. 5,700 -

(B) Rs. 5,800

(C) Rs. 5,900

(D) Rs. 6,200

35. Who appoints the Chief Justice of the
Supreme Court of India?

(A) Prime Minister of India

(B) President of India

(C) Vice President of India

(D) Speaker of the Lok Sabha of India

36. Out of 8000 candidates, 60% were boys. If

" 80% of the boys and 90% of the girls passed the

examination, number of candidates failed is
(A) 1260
(B) 1270
(C) 1250
(D) 1280

37. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 kmv/hr. The average speed of the person is

(A) 12 km/hr
(B) 13 km/hr
(C) 12.5 km/hr
(D) 14 km/hr

38. The dockyard was found in which of the
following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan
(D) Banawali
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34, B @R B S 16,000 5 | (TSR 6%

1
W Zwﬂmwmmmﬁww

3 5
1 T TSI W AR e QBIHR AT

2ZG FA | SiF N FAAF oA &
(A) 5,700 Bl
(B) 5,800 B
(C) 5,900 Bt
(D) 6,200 B

35. ST I @Y duF Resifer @
et 3= ?
(A) SIECSd AR
(B) ©fHreq agsife
(C) ©RTes Sogafe
(D) ©iTed FEiTeld e

36. 8000 & ATA TG 60 *SIM (=EE | WM
80 WISITd (57T 43R 90 ISIeH (A #A 0 ol I
A1Tig AN |

(A) 1260
(B) 1270
(©) 1250
(D) 1280

37. «F e 15 BFRyaS @l @I wEsim I
@22 10 RS @t FE eI | s e ST 6=

(A) 12 i/l
(B) 13 &R
© 12.5 Bf=st
(D) 14 s

38. g AereId (I I0e SRS (=
(A) St
(B) G
(C) sife=sa
(D) eI
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39. A student secured 32% marks in an
examination and failed by 12 marks. Another
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is
‘(A) 500
(B) 600
(C) 400
(D) 700

40. The acid present in the lemon is
(A) Lacticacid -
(B) Oxalic acid
(C) Citric acid
. (D) Acetic acid

" 41. The ratio of milk and water in three equal
pots are in the ratios 3:1, 5:3 and 9:7 respectively.
Then the pot in which milk is more than water—

(A) Equal milk in all pots
(B) 3rd pot
(C©) 2nd pot
(D) 1st pot

42. Manishsold his watch at 10% loss. Ifhe had
sold for Rs. 54 more, he would have made 8%
profit. The selling price of the watch is

(A) Rs. 490
(B) Rs. 350
(©) Rs.270
(D) Rs. 420

43. Whatwill be the angle between the hands of
a clock when the time is at 12-10 a.m.?

(A) 25°
B) 50°
(©) 60°
(D) 40°

A:10

39. 9T VT Ol #AFHW 32 M1 T AW 932
12 TR &G G 1 G R 42 1o 5 oA
AR AT 7T (U 28 77 &P 21 198 AR e ip
TR = ‘

(A) 500
(B) 600
(C) 400
(D) 700

40. SR 0 @ U U, G w4
(A) T=bs Wife
(B) =i wife
(©) 75T wife |
(D) SIS wife

41. &8 > A 44 @ W e 3¢ 1,
5:3,9: 71 @ NS SR TARE 1y @R—

(A) ¥ “Atg i 7y '

(B) POl =itg

(C) &S itg

(D) 4% ig

42, 53 9B 9 10 =St e Rt 3@ | o
37 B 54 Biset @ it RARr e o 8 oo
=Te 7% | 9w Remmaey =

(A) 490 Bit
(B) 350 Gi=
(C) 270 it
(D) 420 Bt

43. s TS 12-10 =T o7y 7901 € Fisg

Hivt 5 R (ict tof Tarar

(A) 25°
(B) 50°
(©) 60°
(D) 40°
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.44, The ratio of monthly income of two persons

isgy: 7 and the ratio of monthly expenditureis4 : 3. -
Ifzeach of themn manages to save Rs. 2,000 per -

month, then their monthly incomes are
(A) Rs. 18,000, Rs. 14,000
(8) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000

45. Who is the author of the Book ‘Wings of
Fire’? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

46. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A) Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

-2 -3 5 .24
47. If x+3-)<5——2———1'-—'z-—5—— ,thcnx—

Z+—of 1=
6 5 4

(A) 5

B) 2

© 1

(D) 3

48. The chemically inactive gas present in the
atmosphere is

(A) Oxygen

(B) Water vapour
(C) Nitrogen

(D) Argon
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44, FEES NFHT SNE TS 9 1 7 G O
:rrﬁasmwaonwﬂmﬁwwz,ooow

(A) 18,000 51, 14,000 Bi<t
(B) 13,5001, 10,500 it
(C) 22,5005, 17,500 51t
(D) 27,000 51, 21,000 Bt

45. ‘3351 & T (Wings of Fire) 80 I

S fof 2

(C) 4. . (=0, =& T
(D) = AEFd

46. FEFRvACTeFE T @H I AT
st X SR ?
(A) <TG
(B) el
(C) g
(D) g

2 4
47, s xt Exe—o 22252 emx=
3 5 .1

] 274 T25
s 177

NI

(B) 2

©) 1

®) 3

48. 7 W AT RiEE W e
S NS TACR?

(A) SfRHE
(B) & A
(C) ARG
(D) =i
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49. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum number of more plants required
to make such arrangement is

(A) 45
(B) 41
(C) 49
D) 44

50. The least number that must be added to
6412 to get a perfect square is
(A) 141
(B) 129
©) 139
(D) 149

51. Baba Amte is associated with which
movement in India?

(A) Save Ganga movement
(B) Save Narmada movement
(C) Chipko movement

(D) Tebhaga movement

52. A chemist has a solution which has 50%
acid and another solution which has 25% acid. The
amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B) 4 litres, 6 litres
(C) 7 litres, 3 litres
(D) 3 litres, 7 litres

53. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

A-12

49. <F 5 ©ig IAFIF A5 1400 Mg T
R4F R 8 TN TS 51 | FACT o7 Ty
S 20 GRSIT AN 3 2
(A) 45
(B) 41
(C) 49
(D) 44

50. 6412-97 MY @ FTaow FHGG @It I
PRI E ke e
(A) 141
(B) 129
(C) 139
D) 149

S1. 391 AT SIFTS (I AT AL T 2
(A) o= Hi5hs S P
(B) Tt Sive @ewlEw
(C) Toortzmt iter
(D) =I5 SNETE

52. QT AR I 50 010! SpifE W1
25 oI SRS b w34t Witz | 10 BB 40 <rorest
e g2 ol wwe Tt 7S T AR g e

(A) 65T, 4 o
(B) 4513, 6 &ibim
(C) 7 &%, 3 o6r"
(D) 3 folor, 7 o

53. & T00 WS B (1w wRfye ¢
(A) e
(B) Texrvs
(C) ysiz!
(D) et



54. Which period was known as “The Golden
Age’ of ancient India?

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

55. Which one among the following is not
composed by Kalidasa?

(A) Abhijnana Shakuntalam
(B) Mudrarakshasam

(C©) Raghuvamsam

{D) Kumarasambhavam

56. Lionisconservedin which National Park of
India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

57. Name the disease caused due to deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre
(C) Scurvy
(D) Anemia

58. Which one of the following is an example
of the Ferrous Metal?

(A) Copper
(B) Tin

(C) Bauxite
(D) Nickel

A-13
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54. 25 OrETSY (T 940 Lo I Bfee
AT

(A) g5
(B) T g
(C) ez gat
(D) o g

55. g TomalFR W @t wRmEE @t
e
(A) SfSTITREET
(B) gy
(C) TIIAY
(D) FARPTER

56, P15 TRAMFS 21 OIRAST (W T S 2
(A) FF=0
(B) f¥a
(C) e
(D) wremisilel

57. SME AW WiEeEwT 9ol 7| @i
eifS oY or e

(A) et
(B) G
(©) =S
(D) wuifAfw

58, PR SrmateR™ W @G cnabe
qg?

(A) it
B) =
(C) T2

D) FwE
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59. A, B and C start a business together. In a
year they earnRs. 29,000. If the ratio of investment
of Aand Bis3:2and thatof B: Cis5: 2,then A
earns

(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

60. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

61. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
(C) Banking
(D) Education

62. Who was the first Foreign Minister of Free
India?
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
(C) B.R. Ambedkar
(D) Sardar Vallabhai Patel

63. Three bells toll together and then at an

intervals 3—, 2— and 15 seconds respectlvely

3’2
The belis toll again after

(A) 10 seconds
(B) 8 seconds
(C) 12 seconds
(D) 15 seconds

59. A, B, C & A WF I7e1| G0 O
29,000 BiFH #1© FFET | A 8 B oI SIAG
3:2 G} B 8¢ C~a49 YL SIS 5 : 2 T, O [
A TS AE?

(A) 15,000 Bt
(B) 14,000 B
(C) 16,000 B
(D) 18,000 Bisst

'Ib

60. m%ﬁﬁmmﬁmm%mam?
(A) fE5ifm A
(B) feo1s= B
() feoiim C
(D) foBiRE D

61. &= Aoy 3 OfFrd @t TRl SiffiIgS
Rats g 90

(A) I ey
B) I/

(C) TR

(D) it

62. A Sizred duw Rorad & e e
(A) GTEZIE RF
(B) GIETHI"SIIgel T =&
(€ R =IiF. SeEmes
(D) T TSR P

63. <= Pretg A6 9961 G S | ofAT

1 1 2
\T:m3§ T, 25 CTFT GR 13 GRS 211
Jpcer| wiRGe 93 femG 9B [Eed (@ W oK
ATALY S O ZE

(A) 10 GTFe

(B) 8 CITS

©) 12 TS

(D) 15 TS



64. Who is the author of the book ‘leent
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

65. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.9%
B) 1%

C) 1.1%
(D) 2.1%

1
66. A man donated 10 of his money to a

1
school, E of the remaining to a church and the

remaining money he distributed equally among

his three children. If each child gets Rs. 50,000,
then the man originally had

(A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs.2,50,000

(D) Rs. 3,00,000

67. The sum of the numerator and denominator
of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes 2 . The fraction is

e

C
AR e 2R A B
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64, ‘A=< 371’ (Silent Spring) &¥B4 GTIF T2
(A) I T
(B) Bisf BIRGeA
(C) prety g
(D) JTF WG (2 A7

65. 9T TSI CF6aT O 10 =110 FSia!
T GR 2F 10 *SIH IAA | GT9 T T
CHRIOR (FETa] TS 2SI G T IR 2

(A) 0.9 =sigar
(B) 1 =@

(C) 1.1 =Szt
AL

66. WWWW —WWWWWI :
aifs e Wﬁqasﬁi@ﬁwmamww
mﬁ@wwwﬁqmﬂm@ww
A 7 |34 205 I 50,000 5196 T #Al, e

O e« ==
(A) 1,50,000 Br5
(B) 2,00,000 Gt
(C) 2,50,000 Gt
(D) 3,00,000 51

67, b ST 6 T Q4IPS U
AR [ROT (UG 4 @R | 3 719 8 WE 3 I
TIGIAT 2 O oA SR % | St SAIHIG 25

Ay -
B) >
B 3

8
© 11

7
o 5
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68. A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is .

(A) 20 km/hr
(B) 15 km/hr
(C) 25 kmv/hr
(D) 30 km/hr

69. During which Governor General’s reign
the partition of Bengal was declared in 19057

(A) Lord Curzon
' (B) Lord Wellesley
(C) Lord Amherst
(D) Lord William Bentinck

70. A train passes a bridge 264 m long in
20 sec, but it takes 8 sec to cross a signal post of the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

71. The number nearest to 100000 exactly
divisible by 2, 3,4, 5,6 and 7 is
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is ,

(A) 25:21
(B) 5:4
(C) 23:22

(D) 4:5

A-16

68. <% Fouim @it Swgee 90 i @
[N ETST 60 et 1g % 7 T 1 T
@&ieg aifs 5 B 27 o 37 o FFoieEa o
T N

(A) 20 Rfiaeot
(B) 15 st
(C) 25 FfRi/aes!
(D) 30 f&firast

69. TS (T Aodd (EHAERER TARIIE
1905 RS Trex (RS Tafka e

(A) 6 Jreiey

(B) <76 STETAR

(C) =16 wwPs

(D) =16 T3femN s

70. 9F% G 264 fio M s oy
20 CILFCS S FE G @ERIRAT I 930
QYCF § (IS o FF | I G o1 2

(A) 83.6 ff/aes
(B) 79.2 fRfirasEt
(C) 64 =hirast

(D) 72.8 RfsiaGy

71. 100000~99 66t @ AWI® 2, 3,4, 5,6
3¢ 7 T Reteg &t =
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72, 4T FIT ©F 35 [l GHILS 4:3 SAite
e @ 45 51 T | (71 3 S i aiv e «{f% @
FUFT 2,500 BIFt @R 2,800 BiH 711 A O3 4w
@ 7l B O TS AN

(A) 25:21
(B) 5:4
(C) 23:22
D) 4:5
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73. The Information Technology Act in India 73. SIS TP GITNAS T YL

wa‘é passed in . W i 2R
‘ (A) 1990 : | (A) 1990 A&
- (B) 2000 (B) 2000 T
| (©) 2010
D) 2005 (C) 2010 A=A
(D) 2005 A
|
| 74. World Environment Day is 74. R SIS R o b <ot =
| ¢ (A) 22nd December (A) 2204 TooTEa
' (B) 1stMay B) 1@
| (C) 6th February : ©) 6\3 FEAR
} (D) 5th June D) 53@1?
t 75. If x+2+ =7 ,thenx= 75. ‘ﬂﬁx+2+ L =7 T, OlgH x =
| 1+ 1+ —
. 1 1
3 5
88 88
| ST @ 19
r 87 87
r (B) I B) 19
} 91 91
| © 19 C) 19
89 89
(D) ) . (D) 19
76. The salary of a person is reduced by 25%. 76. 9T YET (FOT 25 O TAE | oA
Thepercentage increase of the present salary to get (T T =0leN] S 7‘[@’3 oo 7 Aime
back the earlier salary is . (A) 35 *faied
(A) 35%
B) 25% (B) 25 st
(C) 20% (C) 20 ‘I‘T@R"‘T
1 l
77. Indigo Rebellion (1859-60) took place in 77. <t [Rewiz (1859-60) zafee
(A) Bengal (A) JiR=T"
(B) Andhra Pradesh (B) ww
' (C) Uttar Pradesh ) ' (©) TeaLw
(D) Kerala '
- (D) =g
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1
78. If — of a number is added to = of that

4

b= W] —

number, the result is 15 greater than - of that

number. The number is
(A) 160
(B) 190
(C) 180
(D) 170

79. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
©) 12.
(D) 15

80. Inhuman eye the part which allows lightto -

enter into the eye is
(A) Retina
(B) Pupil
(C) Eyelens
(D) Cornea

81. The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs, 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
~(C) Rs. 7,500
(D) Rs. 4,500

82. If 3 men or 4 women can earn Rs. 480in a

day, then the amount that 6 menand 11 womenwill *

earn in a day is
(A) Rs. 2,380
(B) Rs. 2,320
(C) Rs. 2,280
(D) Rs. 2,220

1 1
78. G KA W ORI SO
L @I R @ TR shenl T O 62 A

1
— wex] (Y 15 G | RGBT

2
(A) 160
(B) 190
(C) 180
(D) 170

79. &% e 25 o1 @ S0 2R YR 10 T
BT @ | @ 3 oIS 287 TRt T T
1 25 T Ve TebRGa M =

(A) 16
(B) 20
(C) 12
(D) 15

80. T GWAF @ ST (GItY ST et
(A) ot a s fFess
(B) Pupil a1 Sifwefal
(C) Eye lens 3l (BIT4F &
(D) Fia qt SIwEmeioe

81. g #Affwe SF 10 wiod QT 2 THEF
S 9% 8 T 0P B 50 GBI | OIge BRI
AR == '

(A) 6,000 B!
(B) 5,000 Gis
(C) 7,500 Gt
(D) 4,500 =t

82. T 3 & e WA 4 T WiZeAl e 480 Bit
WY O 6 TH 4T 8 11 & WfEw @I T
B oiE TR0

(A) 2,380 B
(B) 2,320 5
(C) 2,280 Bl
(D) 2,220 Bt




83. A, B, C can do a piece of work together in
15 days. B alone and C alone can do the work in

30 days and 40 days respectively. A alone can do the
work in

(A) 60days
(B) 30 days
(C) 120 days
(D) 75 days

84. Jhumpa Lahiri is a famous
(A) Dancer
(B) Author
(C) Actress
(D) Athlete

3

85. In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors
(C) The Gupta Emperors
(D) The Pallava Emperors

86. Who among the following wrote the song
‘Vande Mataram’?

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

87. Tron ore mines of Mayurbhanj are located
in
(A) Odisha
(B) Gujarat
(©) Kerala
(D) Rajasthan

A-19
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83. A,B, C qta G 1% 15 Ttst (41 93 193
Treis B @3} C IR G T30 I 30 i @
40 w11 T | A 63 Tl T T o A e

(A) 60 faw
(B) 30
(C) 120 fam
(D) 75 fam

84. Yl *TIZC! e e e
&) o
B) @R
(C) wfstal
D) Frein

85. ot wiaren RS e Reifmem
BIo FEARE

(A) GI¥ ==isal
(B) o= wmical
(C) wg F=ivdl
(D) =g wioat

86. FafRe Ifems T & % weay 1w
oA FafREm 2

(A) TRE Sgw
(B) IFbe BIete
(C) SRR Jiga

(D) RFSIIA SiG

87. TTSGT CNE WP 4 =R_iEw @ 7w,
GG =&

(A) sfEr
(B) welG
(C) =
(D) <rerg
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88. In aschool there were 660 students and the
ratio of the number of the boys and girls was 13 : 9.
After a few days 30 girls joined the school and few
boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
(B) 50
(©) 30
(D) 60

89. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 350

90. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 1972 was

(A) 730
(B) 750
(©) 720
(D) 770

91. Magbool Fida Husain was a famous Indian
: (A) Singer

(B) Artist

(C) Author

(D) Journalist

92, ‘Bihw’ is the folk dance of
{A) Rajasthan
(B) Punjab
(C) West Bengal
(D) Assam

. A20

88, <ol FCT 660 T YR BT 4R B9
RIS FE TS 13 : 91 Regfad #17 30 & A9
R G HE (@19l 077 3% g 2 € (=0T TG
B T | O T 6 T A AT 6 : 5
FOGH 2IY 8% 1 (T 50 WA

(A) 40 -
(B) 50
(©) 30

. (D) 60

89, 1% {6 WieRerenT Al 1,500 B [
FE| (1 GO0 25 =[O 7S I qR S0

25 W1 TS T | Ol OiF /iR s 2=
(A) 100 Bist
(B) 200 il
(C) 300 il
(D) 350 %=l

90. 1972 A @6 S TR 2000 e |
1982 FiF fF@EIT WA 10 =R a Am 4R
wfeaig F 6 oot g A | Ffne Qb Al
T3 T | I 1972 A 4FRT ) A

(A) 730
(B) 750
(C) 720
(D) 770

91. WWWW«Q@WW@?.

(A) FRrSME
(B) foafast
©€) =
(D) wAtaws

92, RRe @I FFT ?
(A) HoEH
(B) siigiq
(C) 5wt
(D) WIS




- 93. Loktakisa
¢ (A) Mountain
" (B) River

! L (C) Lake

(D) Desert

94. In which field Arjuna award is given?

(A) Foroutstanding performance in sports
qa and games,
B (B) For social service.

é (C) For brilliant achievement in science
and technology.

(D) Forbrilliant performanceinliterature.

95. Which one is not an ore of iron?
(A) Bauxite
(B) Hematite
(C) Magnetite
(D) Siderite

96. The six digit least number which is exactly
divisible by 215 is
(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. Kathakali is the dance of which state of
India?

(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala

A-21
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93. IO T &3
(A) =fe
(B) =t
(O T (&)
(D) g

94. I THR I T T R G 2
(A) FeT FRoTTR Ty |
(B) ISCEIA &+ |
(€ Reeivs R ot S SRAE
Gl |
(D) HAIRTSH CHEa SIS FRoTea oy |

95, i Soimime R W @l Giea wieiw
g7
(A) 3B
(B) z625
(C) BI%IGIRE
(D) Freaizs

96. (T = SLFH FEST A 215 7 oy ¢
(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. IUFET TS SIASH (S AT 79 ?
(A) TR
(B) Twde
(C) efex
(D) e
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e 1 9 6 ‘b‘;?ng‘ure of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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x2 +4x-5
x2 —4x+3

x2—x-6

- 1. Find value : Zrdr_s

®
|
—

(A)

% ¥
+ +
% I

(B)

© =
(D) None of the above

LT
[
[

|

2. Asteroids are found between the orbits of
{A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

3. In which country the 2023 Asian Games.
was held? o

(A) China
(B) India
(O Qatar
(D) Japan

| 4, Who is the director of the 2023 movie
Oppenheimer?
(A) Steven Spielberg
(B) Greta Gerwig
(C) Christopher Nolan
(D) Martin Scorsese

5. Ifthe mode of data 16, 15, 17, 16, 15, x, 19,
17, 14 is 15. Then value of x is )

(A) 15
@) 16
| (©) 17

(D) 19

A-2

x2-x-6 x2+4x-5

1. o <T@ 3 X
A x2 +4x-5  x2—4x+3

=
L

(A)

L]
+ +
N

(B)

®ow
LI

©
(D) SoitEa @A =

H
L

2. (FIF Y6 FEAET T SLAR Al T2
(A) ¥ e IS
B W@W

(€ R e
(D) i & FerzmF

3. GO (et IRAI (ST 2023 SRS 2 2
(A) B
(B) ©S

\ (C) T

(D) @i

4. 2023 AT LR STATIRAA-97 AT
@
(A) Foren Peiaratsl
(B) (=5t striogst
(C) T&Fmoiwa @
(D) =ifow =t

5. 16, 15, 17, 16, 15, x, 19, 17, 14 S<4
FRYIEFE T 15 30, x99 W9 TJ
© (A 15
®) 16
(©) 17

(D) 19

"
9

'}

3

e e e



6. Grand Canyon located in
(A) Ghana
(B) Bolivia
(C) USA’
(D) France

7. Half of a tank of 21 dcm length, 11 dem
breadth and 6 dcm depth is full of water. Now if
100 iron spheres of 21 dcm diameter is immersed
completely into the water of the tank, find the rise
of water level in dem.

(A) 2-1dem
(B) 21 dem
(C) 21cm
(D) 21 cm

8. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim

(C) Arunachal Pradesh
(D) Tripura

9. A pump of 5 HP can lift 36000 It. of water
in 8 hrs. How long it will take to lift 63000 It.-of
water by a 7 HP pump?

(A) 10 hrs.
(B) 12 hrs.
(C) 15 hrs.

(D) 8 hrs.

10. If the median of arranging the ascending
order of data 8, 9, 12, 17, x + 2, x + 4, 30, 31, 34,
39 is 24. Then value of x is

(A) 22
(B) 21
© 20

(D) 24

FMRI/22

6. IS I wafze
(A) Q=
B) et
(C) tafs=g
(D) FICHA

7. 21 coBif¥ WY, 11 CRR 2w g3g 6 R -
1917 9l BRI wdS T wiml @i G
corams 2% 21 G (AR iz 100 % =me
colieT Aol B (reT 2 1T Tretee T (i
Bt Bota e

(A) 2-1 SRR
(B) 21 =M%
(C) 21 1w
D) 2-1 &

8. i Ao Sex o SRS ‘Fired FreR’
(Seven Sisters/A® (@I7)~49 TGsfe 73 ¢

(A) GIaTd
B) R

(C) SReelIat ot
(D) fasjat

9. 5 SpEe] TR Q36 Siet 36000 : &
8 951 BHTT GEICS 7T | 7 Srarare! S~ SiIT™A
63000 fo1: &= wFCs T Fisi

(A) 1095
(B) 12t
(C) 15 9%
(D) 895!

10. SRFRPIE A 8, 9, 12, 17, x + 2,

" x+4, 30, 31, 34, 39 ST TG 24 A, 147 T
s

(A) 22

(B) 21
(©) 20

(D) 24
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11, The colourthat scatters the least by the tiny
particles of the atmosphere is

(A) violet
(B) green
(C) yellow
(D) red

12, With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.

(A) First
(B) Second
(C) Third
(D) Fourth

13. Who among the following is a part of the
political executive?

(A) District Collector

(B) Secretary of Ministry of Home Affairs
(C) Home Minister

(D) Director General of Police

14. Headquarters of South-eastern Railway
Zone-

(A) Bhubaneswar
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

15, If 0-8x+-‘§=0-23 +2, then value of x is
(A) 332
(B) 22:3
(C) 2:23
(D) 332

A-4

11. I[N TE TR A @ FeHH oS
HR, ogee WG Al =

(A). of{
(B) 7g&
(C) =
(D) ==

12, vET SfeTw Srm Ry s wiews
sHrTAEN R, |

(A) 999
®) &7
©) v
©) vy

13, s e wiwiEe @w oy
(A) (o TSt (JETT)
(B) TAg AdR
) T vl
(D) = bl (RRBa coeieast)

14. S0 7o ST WY ALT—
(A) g™
B) et
(C) Tt
(D) PTG

15. 0-8x+%=0-23+2,x—£§ﬂﬁ‘-i@
(A) 332
(B) 223
(C) 223
(D) 332
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16. A man canrow 8 km/hr in still water, If the 16. 9= & 73 g 8 BfR/9: et we arm, I
river is running at 3 km/hr, it takes 3 hrs. more in T &eeT @ 3 ﬁ;ﬁ/-;l: = G @Fieeg Reifrs

upstream than to go downstream for the same % WS TACS IO ST (I 3 T
distance. The distance of place is @W

T &P IS, ©rF e JIE @Y 9
(A) 22-5km
(B) 325 km _ (A) 22:5
© 25km (B) 32-5 f™fd
D) 27-5km (C) 25 R
(D) 27-5 [
17. The points D and E are situated on the 17. AABC-99 AB R ACIR B4 D e EfR™

sides AB and AC of AABC in such a way that SN S&¥S @ DE||BC@3 AD:DB=3: 1;

length of AC =17 ’

A) 1'1@R
{A) 1'1cm .
(B) 4cm (B) 4G
" (C) 44cm (©) 44 AR
(D) 55cm D) 55N

18. The value of \/10+\/27+J65+J256 =? 18. \/10+\/27+\/65+J25_6 =17

(A) 9 A) 9
(B) 8 - (B) 8
© 6 ©) 6
D 4 - D) 4
19. A pond will be dug in our locality. 24 men 19. SR AT 4GOI | 24 T4 FIE

need 12 days to cut that pond. How many men will @2 +{p7 Bre AE sest 12 el 1 8 Ty 63 o5

be needed to dig that pond in 8 days? BT EiT TN
(A) 36 : A) 36
(B) 30 B) 30
(C) 48 (©) 48

(D) None of the above (D) ST @IS T

20. Which one of the following Indian States 20. SIS (T AT T8 6Ll WR‘Q?@?

has the largest coastline? ' wifierg
(A) Tamil Nadu ((g; .
(B) Gujarat . ]
(C) Maharashtra (©) wg
(D) Andhra Pradesh - (D) wEeved
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21. Find value of
sind3°® cos47° + cos43° sin47°,

(A) 0
B) 1
(C) sin4®
(D) cos4®

22. National Aquatic Championships is a

tournament held in which sports?
(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

23. Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

24, The average of 5 numbers is 45. First four
number is 40, 35, 60, 53, then the fifth number is
(A) 40
(B) 35
(© 60
(D) 55

25, Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of
(A) Galium
(B) Aluminium
(C) Zinc
(D) Silver

A-6

21. sin43° cos47° + cos43° 5sin47° =?
(A) O
B)1
(C) sin4®
(D) cos4®

22. SIS SEAC TG SRR RS (I (Tt
T T 7 :

(A) Tozmife

‘B) -t

©) T

(D) o

23, TR Merive By of et dfefrs wtam
e
(A) T ¢
(B) GRS A
(C) =g S
(D) 58 H

24, 5 7 6% 45 | 497 4 6 31R47 40, 35, 60,
55 &, #em 7t TR
(A) 40
(B) 35
©) 60
D) 55

25, (SR TG #ie! (A0 TH 99 oy T
ATSE aAtetsl (Tl T (SIIRTeHIF) ©f T
(A) catferars
B) R
(©) w3

(D) @it
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26. Who had won an Olympics gold medal for
India in shooting?
(A) Jaspal Rana
(B) Rajyavardhan Rathore
(C) Manu Bhaker
(D) Abhinav Bindra

27. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
B) 21
(C) 25
(D) 30

28. The diagonals of rhombus are in the ratio
3 : 4, If the area of the rhombus is 54 cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60cm
(©) 30cm
(D) 12cm

29. Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m

(B) 10y3m
10

© Fm

(D) 100m

30. The image formed on the retina of the
human eye is .

(A) virtual and inverted
(B) real and inverted .
(C) real and erect

(D) virtual and erect

FMRI/22

26. SR T (ITTS OIHTT T T
T PR (2
(A) T el
(B) A4 A
(C) o
(D) wifonq

27, <G agred 51 Sty 2oy sl
172° €% Sjoig Segdid dfefba wAfamiet 160°)
TG AR

(A) 20
(B) 21
(€) 25
(D) 30

28. 7 @3 TICR FHT ST 3: 4 GR

| IR CEITE 54 e o, oK wig AN =

(A) 48 Gifw
(B) 60
(©) 30
(D) 12

29, Wsw BofR G [ (A AR GreAEd
PO Baf® 14 60° @3 TISATER CAiIgl (A €%
Rz g 10 f:1 Breqitae Twet

(A) 10 fi:
(B) 1043 fl:

10
'.(C) Ti'ﬁ[
(D) 100 fit:

30. WTET GIdd @bAts @ =Ry s el ==
(A) WeFS @33 B0l
(B) 29T 9 BTH!
(C) =Fe g Bl
(D) =egs 3 P
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31. What is the full form of SAI?
(A) Sports Association of India-
(B) Sports Archery of India '
(C) Sports Authority of India
(D) None of the above

32. Lime water reacts with chlofine to give
(A) bleaching powder
(B) baking powder
(C) baking soda
(D) washing soda

33. The Bengal Famine of 1769-70 was
worsened by

(A) Locust attack

(B) Ratinfestation

(C) High levels of taxation
(D) Smallpox epidemic

34, Find the value of X for which (x—3) will be
afactorofthe polynomial K2x3 —Kx2 +3Kx~K.

1
(A) Oor >
B 0
1
© 57

1
(D) 0o ~57

35. The mirror used as rear-view mirror in
" vehicles—

(A) convex mirror
(B) plane mirror

(C) cylindrical mirror
(D) concave mirror

A-8

31. @ @ W (SAD)-a 7jrat T e
(A) CIT ST o 3
(B) i wsifE o1 3w
(©) TR R v 3om
(D) weffR g v 9

32, BE o OE @R [ we teR =
(A) fafos sifem
(B) ARR siTwin
©) @ ere
(D) T 1! Fret

33. 1769-70 AITe1 IATIT NATA 26 grAfRe
(A) *AANETS S
(B) 1 AT
(C) &= et o ST
(D) =6 ST TS WA G

34, K2x3 —Kx2? +3Kx—K I25/@ TG
(x — 3) 4376 TAWT 2T, K-99 TN T3
o
(A) 099 —
(B) 0
1
©x
(D) 0T ——

35. foiea i (7RI &e0 T S1ETL SIS0 QT o
EG|

(A) e SEal
(B) e Sl
(C) @RI S
(D) SRS WA




36. Artificial flavour for orange is obtained
from

(A) amyl acetate
(B) isoamyl valerate
{C) methyl butyrate
(D) octyl acetate

1 .1

. 1
37. What will be the value of TR TRET

56 ?

(A)
(B)
©)
(D)

o= 8= e T

38. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

39. How many kilometres comprise of a
marathon run?

(A) 42
(B) 25
(©) 36
(D) 18

40. 1f x=2+-\/§,x+%=?
(A) 2
(B) 243
C) 4
D) 2-3

A9
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36. TAANEILS Fia 351G TS Y FAH
(A) SUIREA SOIFE
(B) WigFireniRe SHifeas
(©) feiz= el
(D) wi3iRe SyifFne

1 1

1
37 —+ﬁ+§6

73 ~99 WiF T8 LI ?

(A) 2z
(B)
©
(D)

38. R SeAqp Bt oIF w93 FIS (0
" (A) =i e
(B) cifif= e
(C) =iLars ol
(D) & 5

39, I (T-a Fo el (o e
(A) 42
(B) 25
(C) 36
(D) 18

40. x=2+\/§,x+%“ﬂ§mm
(A) 2
B) 243
4
D) 2-43
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41. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him. '

(A) 26%
(B) 78%
(©) 52%
(D) 13%

42. Ifapersontravels 10 km by bus in 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.

(C) 30 km/hr. !.
(D) 40 km/hr.

43. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is

(A) 12-5cm
(B) 12cm

(C) Je9 cm
(D) 24 cm

44. Tomato is a natural source of which acid?
(A) Acetic acid
(B) Citric acid
(C) Tartaric acid
(D) Oxalic acid

45. Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

A-10

41, o3 e @EE olEwWY 80% o
e g3 Rt 21t ave cs1ia 65% cofb i
Fiifte 2w | fof @IF colBe <o Te coib
A=A ?

(A) 26%
(B) 78%
(©) 52%
(D) 13%

42, I @FE S AFEE 30 WG 10km #i9
S P, Oigre AT A 7@
(A) 10km/hr.
(B) 20 kmv/hr.
(C)' 30 km/hr.
(D) 40 km/hr.

43. 438 Jram IPIET ol 13 it = Joe
wgl-ge T 10 GTTY, J08% (e (A0S ST A
(A) 125 1
(B) 12N

© Jeo G
(D) 24 Al

44, TG @I SiPTTn Figfes Bete
(A) AT =OiFe
(B) #i2fie wite
(C) Gibifas it
(D) e wpife

45. ffRe ey e b mt
(A) e STl
(B) IS S
(C) o Sl
(D) TEIF TG G ST S




46. Sodium hydroxide is used
(A) as an antacid
(B) in manufacture of soap
(C) as a cleansing agent
(D) in alkaline batteries

47. Which one of the following planets has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

48. Which country shares the longest border
with India?
(A) China
(B) Pakistan-
(C) Nepal
_ (D) Bangladesh

1
49. {(125)‘% (15)"%} "y
(A) 10 |
(B) 107
(C) 10
(D) 1

50. Name the two states of India involved in
Cauvery water dispute.

(A) Karnataka and Tamil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) QOdisha and Andhra Pradesh

46, GIGAN 2RYHLE JIT© A
() wEIE R
(B) AR BeoAGTR T
(C) AR 9T &G
(D) =FIEge i

47. @R AZF TROE QR -GS @ g
itz ?
(A) W=
(B) TS
(C) =pA
(D) =#

48. (I TN GO WX SIUeR Aew
FERE 2
(A) B
(B) =ifdss
(C) i
(D) AT

317
49. '{(125)—2x (16)‘5} =7
(A) 10
B) 10™
(© 107
D) 1

50. INAAT SERO RRAW SRTST (R 6 915
Tee?

(A) 5% 8 S
(B) Tfows @ FF&

(C) 31 € SIfiEIg
(D) eftn @ e
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| 51. The product of two positive numbers is %

and their quotient is % Two numbers are
(A 1 4

N ~

0O w

p— S
] a1 ] D Ly
nhih wnonwnlsw

-

S

52. Acid rain is caused by the oxides of
(A) carbon
(B) nitrogen
(C) sulphur
(D) sulphur and nitrogen

53. Which of the following is biodegradable?
(A) Aluminium can
(B) Polythene bag
(C) Cowdung
(D) DDT

_2a-3b+4c

P
54. 1 =377 7

2 , the value of

pis
(A) 10
B 12
©) 11
(D) 13

55. The price of a machine in a factory
depreciates at the rate of 10% of the price at the
beginning of the year. If the present price is
Rs. 60,000, then calculate what will be its estimated
price after 3 years.

(A) Rs. 43,740

(B) Rs. 43,700
(C) Rs. 43,640
(D) Rs. 44,740

A-12
51, 9% T v O R s L 7,
50 2
.Yl qfo 21
(A)
B)
©

D)

- -

viiw |l wv| ] —
s oy |

52. Ao I NelE wmike wife 3BT -
Fld e '

(A) 144

(B) =2Grem

(C) &S

(D) oI%FF @ TGS

53. Gafem T0G @G T AFTIE 2

(A) SpERIGE g
(B) #fAfd= ptat

(C) CiIFs

(D) BREH

a

54, 3f 5=
K

b ¢ 2a-3b+4c
E—E—“p—, p -9 9
(A) 10

B) 12
©) 11
(D) 13

55. «=f6 FFLIT @FER =T A4S I 10%
T A X | (IR 55 60,000 Bt 77T, 3 T2
A 6% AP T ]

(A) 43,740 GBI
(B) 43,700 Bt
- (C) 43,640 T
(D) 44,740 Bt




56. PV Sindhu is a champion Indian player in
which sports?
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

57. Which of the following characters can be
acquited but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of eyes
(D) Texture of hair

38. Which among the following is an ethnic
community of Assam?

(A) Bhil
(B) Ahom
(C) Gond
(D) Adi

59. If a commodity is sold with successive
discounts of 20% and 10%, what will be the
equivalent discount?

(A) 28%
®B) 30%
(C) 10%
D) 20%

60. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
from the starting point is

(A) 34m
B) 17m
(C) 26m
(D) 25m

A-13
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56, IR catics o1 e g waram opfriam el
HETAe e
" (A) cEveE
(B) fRer GRm
(C) Jrefirsy
(D) G

57. RufE g @D wwm Twe o g
Ceaifiig s strem aw A

(A) TFI R
(B) OWRA stow
(C) BT ©
D) & Koo

58, WA ©ifSss wremy @ e
(A) fe=t
(B) =z
(C) coi
D) wifa

59. «3f6 T AT 20% G 10% WS R
FACE AIGD BC T :
(A) 28%
B) 30%
(C) 10%
" (D) 20%

60. G & 75 7T (A 24 B: siFsamEE
I 3R OI47 10 3 Seafi o | wrargs (i e
Rk E

(A) 34 fi:
B) 17f:
(C) 26 :
(D) 25
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61. A train passes two bndge of lengths 210m
_and 122m in 25 sec.and 17 sec. respectwely
Length of the train is

(A) 60m
(B) 70m
(C) 65m
(D) 75m

62. Which one of the _following‘ countries is
NOT a permanent member of . UN Security
Council? . '

(A) France
(B) China

* (C) Japan . )
(D) United Kingdom -~

63. Thecostofcultivationofa30mlongpieces |

of land is Rs. 150. If-the breadth of the land be Sm
less, the costwouldhavebeenRs 120 Thebreadth
of the land is
" (A) 25m
(B) 35m
(C)-30m
(D) 40 m

64. Whatlsthcrateof51mple1nterestperannum
when the interest 6f some money in 10 years will

be 2 _part of its amount (pnnc1pa1 along with -
intefest)?

(A) si;'-%'

1, S
®e3% Lo
© 62%

(D) None of the above

- 65. Who amongst the following male
intefnational cricketer hdve NOT scored a double
hundred in a one day international?
(A) Sachin Tendulkar
(B) M.S. Dhoni
- (C)" Rohit Sharma
(D) Shubman Gill

A-14

61, <=3 & 2103 122 R oo e
25 (1: =R 17 LT S Sar FCACE | GTE (g T
(A) 60f: N

(B) 70 fa:

(©) 65%:

(D) 75 fii:

62. Awa oriefE T @R O WGP

(&) T

- ®) B 3
(C) &
©) T

63. 30 f&: HREE 92l & orR. IS WA
150 Bt | 5 wfig @2 5 fi: o %©, OF W
120 Bist 2@ | Sf5ifoa &% ™I

(A) 25
(B) 35%:
() 30%:
(D) 40 %

64. Wﬁﬁ’awmwmmw
10?@@3%&5% 2 wext A

(A)S %
1

(B) 65%

20
©) 65%

(D) THAEA @IGATE T

65. TGS SITTHSS [FCH6 (YA (I CATETAIG
TIE IR’ (R %1 i) FROS A 2
(A) A (TgeITd
(B) 9., ifW
(©) ifes ==t
(D) wo o
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»66. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s. age was
thrice of my sister’s age. Find the present age of
my uncle. o

(A) 20 years R
(B) 40 years

(C) 80 years

(D) 60 years

67. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

68. A mixture contains alcohol and';wate.r inthe
ratio 4 : 3. If 5 1t. of water is added to the mixture,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t

B) 121t
© 151
(D) 181t

69. A man’s present age is 125% of what it was
10 years ago. His present age is
" (A) 40 years
(B) 70 years-

(C) 50 years
(D) 60 years

70. xocyaridy=8whcnx=2;ify;lé,value
of x is
A 2
(B) 4
© 6 :
D) 8 o

FMRI/22

6. WA FPRIT I A QAR FEH
T[WETT Taeed |10 T=a =S ST FIHRRE 0
W @I WO foradt o, FRRRE 6T
P TR

(A) 20 I=F
(B) 40 3=
(C) 8032
(D) 60 3=

67. 2023 RTie WI_t 41T FIZAE VSAHA
TR A0S T SRR TIPS (i ¢
(A) Tgmian <me
(B) g@iAT
(C) o™
(D) = «fiiRfi

68. 3 Relet SRR © W TeAe 4 : 3

- Prfbes 5 B e vEE S T 4 1 5 1eigE 2ve

Briefbre @ wifim sieere e ot =
(A) 10 &= -
(B) 12 o=
(C) 15 i
(D) 18 &5

69. 4 fRFS G TN 10 77T A -
125%, ©iF <63 I99 T
(A) 403%9
(B) 7097
(C) 50<=x
(D) 60 3=
70. xydRy=8TAqx =2; y = 16 T, x-97
N A “
(A) 2
(B) 4
€ 6
- (D) 8

Please Turn Over




FMRI/22 A-16

71. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B) Ganga
(C) Hooghly
(D) Gomti

72.
9126

9 | 16|50
16| x |40
(A) 16
(B) 4
©) 2
(D) 8

73. Closest layer to the earth’s surface—
(A) Mesosphere
(B) Troposphere
(C) Ionosphere
(D) Stratosphere

74. Inapartnershipbusiness theratio of capitals

of Amit, Angana, Badalis as % : % : % Ifthey make

a profit of Rs. 3,700 at the end of the year.
The profit share of Badal is

(A) Rs. 1,500

(B) Rs. 1,000

(C) Rs. 1,200

(D) Rs. 2,000

75. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of K is

(A) 2010
(B -2o0r0
(C) 2or-2
(D) Only 0

71, (I AT Get fca ©iees AW (Gt @S

AR “ie tofd =W e ,

(A) T , e

(B) sl
(C) w4l
(D) ¢airTet

72
9126

9 |16(50
16| x |40
(A) 16
B) 4
€) 2
D) 8

73, TR G AR T TI—
(A) e
(B) Gotifeais
(C) SN
(D) WiGIRFaR

74, 9% ST YA SRS, =W, IME

S A %:%:%lm (I YA (6

=S 3,700 BIF R, ML FTpe TJ
(A) 1,500 Bt
(B) 1,000 B
(©) 1,200 1A
(D) 2,000 Bt

75. T 4% + 6Kx +9 = 0 TN Aol A
T, K9 Fo?

(A) 292710
(B) — 2941 0
(©) 2=2a -2
(D) @0

HH

v
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76. The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

A)
(B)
©
(D)

S I TR N

77. Buluand Tathagata candoawork separately
in 20 days and 30 days respectively. After workin g
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take to complete
the work alone?

(A) 20 days
(B) 28 days
(C) 24 days
(D) 16 ddys

78. What is the full form of TPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

79. The ratio of two numbers is 3:4 and their
H.CFis4. Their L.C.M. is

(A) 12
(B) 48
(C) 24
D) 16

80. The mean proportional of 16 and 25 is
(A) 400
(B) 100
(C) 20
(D) 40

A-17
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76. T ST Sl qreq e vl 7 i =,
LI T Y8 5-5 GAf i Jatel aRl (per e
FE I T

@)
®)
©
©)

a8 wa o

77. T R OIS G TG G G IANF

20 4R 30 it 00 A" | sigt 9T 7 T s
T AT G 5 (5167 | O OTel3 a3 3t 10 e
W%Wmmmiwﬁwfa@mw

O WY (FAE?
(A) 20 =

(B) 28 A=
(C) 24 Tam
(D) 16 e -

78. WE ¥ @& (IPL ) 7t w213 $e
(A) e caifdis fist
(B) 2 ot &t
(C) Az “reisy it
(D) e 2 s

79. 5 MAIT SIS 3:4, OOR AIALS. 4 T,
AL T )
(A) 12
(B) 48
(C) 24
(D) 16

80. 16 €2 25-97 FPTHIIS!
(A) 400
(B) 100
(© 20
(D) 40
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81. Roots of the plants absorb water from the
soil through the process of )

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

82. The theme of India’s G20 presidency .
““Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from
{A) Maha Purana
(B) Maha Upanishad
(C) Rig Veda
(D) Smriti

83. Lﬁgest river island in the world—
" (A) Sundarban
(B) Majuli
{C) Java
(D) Andaman

. 84. Which number would replace in question
marks in the series ? The series 7, 12, 19; 2, 39.

(A) 24
(B) 26
(©) 28
@) 29

~ 85, The Dutch \\.;cre defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
(C) Pullalur
(D) Colachel

81. iit=d P W6 (I et WA F (TSI ©f
= .
(A) Rerem
(B) IR Fofaw
(C) w9
(D) @efFa W0 @AhE 91

82, SIS SRS G20FTHAEE T T
oA welfe g a3 #AfE Ao = o
LG BICK '

(A) SRR
(B) WRe~Aan
(C) A

(D) %

83. Rodw 7z FnaEe—
(A) T
(B) g
(C) et
(D) i

84. 7,12, 19, 7,39 3 TS ? T (I R
YA?
(A) 24
(B) 26
(C) 28
(D) 29

85. (I ITa SeTISHE ~ialfers Srafarem g
Firena Aefe; T ¢
(A) eTifeegR
(B) Afsig
(C) “Fed
(D) CIETTHeT
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e T T

86. The degree of the polynomial /5 is

1
O
B) 2
<1
®) 0

87. The strait divides Europe from Africa—
- (A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

88. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit
percentage?

(A) 3%%
(B) 10%
© 9—111%
(D) None of the above

89. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
(B) 2-5¢cm
(©) 1'5¢em
(D) 8cm

90. Shortest National Highway in India—
(A) NH548
(B) NHS
(C) NH44
(D) NH3

A-19 FMRI/22

86. /5 Jesi YA TGt

1
4) 3
(B) 2
O 1
D) 0

87. (FIF 2 Lerateh € Wi Row g ¢
(A) TR
(B) @R
(C) TEm@rsim
(D) (ool

88. 110 6 v R == 120 B Wiz eFpy
GRS SR
(A) s%%
(B) 10%
©) 91—11%
(D) SoiEd @AID3 7

89. {6 0o P oG 5 Gif @ 3 G
G 1Y
(A) 2 G
(B) 2-5 @i
(C) 1'5¢M
(D) 8

90. SITTS AIBE T Ereiow T Aws (NH)—
(A) NH548
(B) NH8
(C) NH44
(D) NH3
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96. Which of the following causes depletion of
the ozone layer?

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
(D) Carbon monoxide

. 97, Who among the following is the author of
t(he book ‘Bandi Jiban'?

(A) Rashbehari Bose

(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

98. The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
(B) 125%
(C) 25%
(D) 130%

99, fq:2=b:5=c: 8 then
S50%of a=20% of b= % of c.

1
(A) 12-5

1
(B) 125

1
© 105

(D) None of the above

100. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(C) 59
(D) 68

96. w3 Mg @N0T Y STEN B gHee

e
(A) I GRS
®B) finew
C) @RFEFLR
(D) ¥F TR

97. T G XN T &0
(A) Red @
(B) 37 ATy
(C) =l o i
(D) *Brewie s

98, b TR AEEA TS 50% IR T
JECHT CHITH [ oM
(A) 120%
(B) 125%
(©) 25%
(D) 130%

99, TMa:2=b:5=c: 8THNOR
a-99 50% = b-99 20% = c-9% %.
1
(A) 125

1
(B) 123

1
© 105

(D) Goitam e 7

100. <5 72 S0F AR TR SFYHBI B 14 9%
TR (AT 29 Rt Fawet Srawis W 01 1Ryl
o

(A) 95
(B) 86
(C) 59
(D) 68
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